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3lasy) gsldl) :503) Goddl)

arabe/60 |biologie/20 | chimie/20 |tarbia/20 |geo /20 |tarik /20 | math/60 |physique/20
N Valid 57966 57967 58063 58054 57907 58092 57912 57874

Missing | 1479 1478 1382 1391 1538 1353 1533 1571
Mean 32.2834 |11.7052 11.9532 13.4956 |12.0420 |[13.2420 |44.1732 [11.7258
Median 33.0000 |12.0000 12.0000 14.0000 |12.0000 |14.0000 |48.0000 |12.0000
Mode 33.00 14.00 14.00 14.00 11.00 17.00 60.00 19.00
Std. Deviation 7.69093 |4.21527 4.65901 2.96931 [2.73590 |4.67612 |14.12027 |5.59727
Skewness -.341 -.284 -.358 -.518 124 -.637 -.953 -.182
Std. Error of Skewness |.010 .010 .010 .010 .010 .010 .010 .010
Minimum 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
Maximum 57.00 20.00 20.00 20.00 20.00 20.00 60.00 20.00

25 27.0000 |9.0000 9.0000 12.0000 ]10.0000 |[10.0000 |36.0000 |7.0000
Percentiles |50 33.0000 |12.0000 12.0000 14.0000 |12.0000 |14.0000 |48.0000 |12.0000

75 38.0000 |15.0000 16.0000 16.0000 |14.0000 |17.0000 |56.0000 |17.0000

123
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Frequency Table
Frequency Percent Valid Percent Cumulative Percent

.00 5 .0 .0 .0
1.00 17 .0 .0 .0
2.00 15 .0 .0 1
3.00 19 0 0 1
4.00 27 .0 .0 1
5.00 35 1 1 2
6.00 51 1 .1 3
7.00 52 1 1 4
8.00 73 1 1 5
9.00 80 1 1 .6
10.00 84 1 1 8
11.00 106 2 2 1.0
12.00 134 2 2 1.2
13.00 135 2 2 1.4
14.00 220 A 4 1.8
15.00 272 5 5 2.3
16.00 305 .5 5 2.8
17.00 381 .6 7 3.5
18.00 477 .8 .8 4.3
19.00 627 1.1 1.1 54
20.00 750 1.3 1.3 6.7

Valid 21.00 882 1.5 1.5 8.2
22.00 1032 1.7 1.8 10.0
23.00 1306 2.2 2.3 12.2
24.00 1461 2.5 2.5 14.7
25.00 1744 2.9 3.0 17.8
26.00 2002 3.4 3.5 21.2
27.00 2232 3.8 3.9 25.1
28.00 2500 4.2 4.3 29.4
29.00 2711 4.6 4.7 34.0
30.00 2794 4.7 4.8 38.9
31.00 2925 4.9 5.0 43.9
32.00 3098 52 53 49.3
33.00 3230 5.4 5.6 54.8
34.00 3068 5.2 5.3 60.1
35.00 2992 5.0 5.2 65.3
36.00 2919 4.9 5.0 70.3
37.00 2664 4.5 4.6 74.9
38.00 2483 4.2 4.3 79.2
39.00 2173 37 3.7 82.9
40.00 1970 3.3 3.4 86.3
41.00 1700 2.9 2.9 89.3
42.00 1393 2.3 24 91.7
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43.00 1139 1.9 2.0 93.6
44.00 965 1.6 1.7 95.3
45.00 738 1.2 1.3 96.6
46.00 587 1.0 1.0 97.6
47.00 398 7 7 98.3
48.00 339 .6 .6 98.9
49.00 231 4 4 99.3

Valid 50.00 175 3 3 99.6
51.00 105 2 2 99.7
52.00 68 1 1 99.9
53.00 45 1 1 99.9
54.00 19 .0 .0 100.0
55.00 6 .0 .0 100.0
56.00 6 .0 .0 100.0
57.00 1 .0 .0 100.0
Total 57966 97.5 100.0

Missing | System | 1479 25
Total 59445 100.0
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Statistics
nl_1 nl_2 | nl1.3 | nl1_4 | nl1_5 nl_6 nl_7 nl_8 [ n1_9 |n1_10|nl_11|nl_12 | n2_1 n2_2 n2_3 | n2.4 | n2_5
Valid 57249 | 55634 | 57218 | 56666| 54198 | 56333| 55648| 56959| 56436 | 55681 | 55091 | 53124 | 50879| 56959 | 56942 | 47676| 57139
N Missing 13 1628 44 596| 3064 929 1614 303 826| 1581| 2171| 4138| 6383 303 320 9586 123
Mean 2.6040| 1.1885| 1.7934| 1.5893|1.1127| 3.2142| 1.6561| 3.0062|1.6591 |2.2236| 1.4595| 1.0196| .9178| 4.2270|2.8706| .5752| 1.4960
Median 3.0000| 1.0000| 2.0000| 1.5000| 1.0000| 3.7500| 1.5000| 3.2500|1.7500 |2.0000| 1.5000 | 1.0000 | 1.0000| 4.2500 | 3.0000| .5000 | 1.5000
Mode 3.00 1.50 2.00 1.00 1.50 4.00 1.00 3.50| 2.00 3.00 1.50 1.00 1.00 4.00 3.00 0.00 1.50
Std. Deviation .62387| .80588| .33309| .79553|.77240| 1.18946 | 1.25943 | .73064 |.78381 |.81974| .66437| .68409 | .34436| 1.16588 | .87996 | .51325| .44229
Skewness -1.480 .166| -1.626 475 259 -1.602 A412| -1.281| -.198]| -1.164| -.285 273 -.324 -.100| -.187 .718| -.438
Std. Error of Skewness .010 .010 .010 .010 .011 .010 .010 .010 .010 .010 .010 .011 .011 .010 .010 .011 .010
25 2.0000| .5000| 1.5000| 1.0000| .5000| 3.0000 .5000| 2.7500 | 1.0000 | 2.0000 | 1.0000| .5000| .7500| 3.5000|2.2500|0.0000| 1.2500
Percentiles |50 3.0000| 1.0000| 2.0000| 1.5000 | 1.0000| 3.7500| 1.5000| 3.2500|1.7500 |2.0000| 1.5000| 1.0000| 1.0000| 4.2500| 3.0000| .5000 | 1.5000
75 3.0000| 2.0000| 2.0000| 2.0000 | 1.5000| 4.0000| 2.5000| 3.5000|2.2500 | 3.0000| 2.0000| 1.5000| 1.0000| 5.0000| 3.5000 | 1.0000 | 1.7500
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Frequency Table
nl 1
Frequency | Percent | Valid Percent | Cumulative Percent
.00 350 .6 .6 .6
25 1 .0 .0 .6
.50 26 .0 .0 7
1.00 3188 5.6 5.6 6.2
1.25 3 .0 .0 6.2
1.50 24 .0 .0 6.3
Valid | 1.75 1 0 0 6.3
2.00 15109 26.4 26.4 32.7
22 3 .0 .0 32.7
2.50 40 .1 1 32.7
275 5 .0 .0 32.8
3.00 38499 67.2 67.2 100.0
Total 57249 100.0 100.0
Missing | System 13 0
Total 57262 100.0
nl 2
Frequency | Percent | Valid Percent | Cumulative Percent
.00 7818 13.7 14.1 14.1
25 2547 4.4 4.6 18.6
.50 7102 12.4 12.8 31.4
Yo 1825 3.2 3.3 34.7
1.00 9121 15.9 16.4 51.1
125 1482 2.6 2.7 53.7
Valid 1.50 9796 17.1 17.6 71.3
1.7 1670 2.9 3.0 74.3
2.00 8408 14.7 15.1 89.5
223 923 1.6 1.7 91.1
2.50 3306 5.8 5.9 97.1
2.75 370 6 7 97.7
3.00 1266 2.2 2.3 100.0
Total 55634 97.2 100.0
Missing System 1628 2.8
Total 57262 100.0
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nl 3
Frequency | Percent | Valid Percent | Cumulative Percent
.00 96 2 2 2
25 11 .0 .0 2
.50 335 .6 .6 .8
e 35 .1 1 .8
Valid 1.00 4071 7.1 7.1 7.9
1.25 370 .6 .6 8.6
1.50 12847 22.4 22.5 31.0
1.75 1159 2.0 2.0 33.1
2.00 38294 66.9 66.9 100.0
Total 57218 99.9 100.0
Missing System 44 1
Total 57262 100.0
nl 4
Frequency | Percent | Valid Percent | Cumulative Percent
.00 1738 3.0 3.1 3.1
25 155 3 3 3.3
.50 2972 5.2 5.2 8.6
S 1964 3.4 3.5 12.1
1.00 14498 25.3 25.6 37.6
1.25 3205 5.6 5.7 43.3
1.50 9563 16.7 16.9 60.2
1.75 1948 3.4 3.4 63.6
Valid 2.00 8362 14.6 14.8 78.4
2.25 1223 2.1 2.2 80.5
2.50 5005 8.7 8.8 89.4
27/ 834 1.5 1.5 90.8
3.00 3439 6.0 6.1 96.9
325 399 7 7 97.6
3.50 1018 1.8 1.8 99.4
375 105 2 2 99.6
4.00 238 4 4 100.0
Total 56666 99.0 100.0
Missing System 596 1.0
Total 57262 100.0
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nl 5
Frequency | Percent | Valid Percent | Cumulative Percent
.00 7941 13.9 14.7 14.7
25 2710 4.7 5.0 19.7
.50 7535 13.2 13.9 33.6
e 1846 3.2 3.4 37.0
1.00 9731 17.0 18.0 54.9
125 1754 3.1 3.2 58.2
Valid 1.50 10031 17.5 18.5 76.7
1.75 1675 2.9 3.1 79.8
2.00 6350 11.1 11.7 91.5
22 872 1.5 1.6 93.1
2.50 2538 4.4 4.7 97.8
275 303 .5 .6 98.3
3.00 912 1.6 1.7 100.0
Total 54198 94.6 100.0
Missing | System 3064 5.4
Total 57262 100.0
nl 6
Frequency | Percent | Valid Percent | Cumulative Percent
.00 2548 4.4 4.5 4.5
25 118 2 2 4.7
.50 2182 3.8 3.9 8.6
Yo 244 4 4 9.0
1.00 1797 3.1 3.2 12.2
125 193 3 3 12.6
1.50 1202 2.1 2.1 14.7
1.75 233 4 4 15.1
Valid 2.00 1083 1.9 1.9 17.0
22 291 .5 .5 17.6
2.50 1500 2.6 2.7 20.2
275 619 1.1 1.1 21.3
3.00 3653 6.4 6.5 27.8
325 1304 2.3 2.3 30.1
3.50 8932 15.6 15.9 46.0
375 3815 6.7 6.8 52.7
4.00 26619 46.5 47.3 100.0
Total 56333 98.4 100.0
Missing System 929 1.6
Total 57262 100.0
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nl 7
Frequency | Percent | Valid Percent | Cumulative Percent
.00 8251 14.4 14.8 14.8
25 171 3 3 15.1
.50 7775 13.6 14.0 29.1
e 251 4 .5 29.6
1.00 8645 15.1 15.5 45.1
1.25 233 4 4 45.5
1.50 6704 11.7 12.0 57.6
1.75 169 3 3 57.9
Valid 2.00 5688 9.9 10.2 68.1
225 171 3 3 68.4
2.50 4786 8.4 8.6 77.0
275 140 2 3 77.2
3.00 4135 7.2 7.4 84.7
BY5 128 2 2 84.9
3.50 3490 6.1 6.3 91.2
BYE 156 3 3 91.5
4.00 4755 8.3 8.5 100.0
Total 55648 97.2 100.0
Missing System 1614 2.8
Total 57262 100.0
nl_8
Frequency | Percent | Valid Percent | Cumulative Percent
.00 376 7 7 7
25 90 2 2 .8
.50 236 4 4 1.2
75 261 5 5 17
1.00 491 .9 9 2.6
1.25 488 .9 9 3.4
1.50 1031 1.8 1.8 5.2
1.75 1206 2.1 2.1 7.3
Valid 2.00 2601 4.5 4.6 11.9
2203 2579 4.5 4.5 16.4
2.50 4587 8.0 8.1 24.5
2.75 5461 9.5 9.6 34.1
3.00 8204 14.3 14.4 48.5
3.25 8255 14.4 14.5 63.0
3.50 10227 17.9 18.0 80.9
3.75 8215 14.3 14.4 95.3
4.00 2651 4.6 4.7 100.0
Total 56959 99.5 100.0
Missing System 303 5
Total 57262 100.0
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nl_9
Frequency | Percent | Valid Percent | Cumulative Percent
.00 1921 34 34 34
25 923 1.6 1.6 5.0
.50 4594 8.0 8.1 13.2
e 1800 3.1 3.2 16.4
1.00 7454 13.0 13.2 29.6
125 1835 3.2 3.3 32.8
Valid 1.50 8634 15.1 15.3 48.1
1.7 2622 4.6 4.6 52.8
2.00 11920 20.8 21.1 73.9
22 2476 4.3 4.4 78.3
2.50 6772 11.8 12.0 90.3
275 1307 2.3 2.3 92.6
3.00 4178 7.3 7.4 100.0
Total 56436 98.6 100.0
Missing System 826 1.4
Total 57262 100.0
nl_10
Frequency | Percent | Valid Percent | Cumulative Percent
.00 3526 6.2 6.3 6.3
25 243 4 4 6.8
.50 335 .6 .6 7.4
Yo 219 4 4 7.8
1.00 722 1.3 1.3 9.1
125 468 .8 .8 9.9
Valid 1.50 1793 3.1 3.2 13.1
1.7 2505 4.4 4.5 17.6
2.00 21400 37.4 38.4 56.1
225 227 4 4 56.5
2.50 1249 2.2 2.2 58.7
275 1495 2.6 2.7 61.4
3.00 21499 37.5 38.6 100.0
Total 55681 97.2 100.0
Missing System 1581 2.8
Total 57262 100.0
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nl_11
Frequency | Percent | Valid Percent | Cumulative Percent
.00 2518 4.4 4.6 4.6
25 1106 1.9 2.0 6.6
.50 4143 7.2 7.5 14.1
e 1437 2.5 2.6 16.7
1.00 8535 14.9 15.5 32.2
125 2172 3.8 3.9 36.1
Valid 1.50 13830 24.2 25.1 61.2
1.75 3626 6.3 6.6 67.8
2.00 11545 20.2 21.0 88.8
22 1491 2.6 2.7 91.5
2.50 3502 6.1 6.4 97.8
275 480 .8 9 98.7
3.00 706 1.2 1.3 100.0
Total 55091 96.2 100.0
Missing System 2171 3.8
Total 57262 100.0
nl_12
Frequency | Percent | Valid Percent | Cumulative Percent
.00 6704 11.7 12.6 12.6
25 3049 5.3 5.7 18.4
.50 9365 16.4 17.6 36.0
Yo 2302 4.0 4.3 40.3
1.00 10874 19.0 20.5 60.8
1.25 1873 3.3 3.5 64.3
Valid 1.50 9605 16.8 18.1 82.4
1.75 1848 3.2 3.5 85.9
2.00 5207 9.1 9.8 95.7
225 626 1.1 1.2 96.9
2.50 1324 2.3 2.5 99.3
275 142 2 3 99.6
3.00 205 4 4 100.0
Total 53124 92.8 100.0
Missing System 4138 7.2
Total 57262 100.0

laploTy &yl dsll) sdiaddst)) 33LL

32 1



dhwgihl salgddl

n2 1

Frequency | Percent | Valid Percent | Cumulative Percent
.00 1238 2.2 2.4 2.4
25 1262 2.2 2.5 4.9
.50 9403 16.4 18.5 23.4
Valid e 4932 8.6 9.7 33.1
1.00 24575 42.9 48.3 81.4
1.25 3186 5.6 6.3 87.7
1.50 6283 11.0 12.3 100.0

Total 50879 88.9 100.0

Missing System 6383 11.1
Total 57262 100.0
n2 2

Frequency | Percent | Valid Percent | Cumulative Percent
.00 56 .1 .1 .1
25 15 .0 .0 1
.50 92 2 2 3
7S 16 .0 .0 3
1.00 359 .6 .6 9
1.25 35 .1 1 1.0
1.50 481 .8 .8 1.9
1.7 102 2 2 2.0
2.00 1506 2.6 2.6 4.7
27 187 3 3 5.0
2.50 2060 3.6 3.6 8.6
25 533 .9 9 9.6
3.00 5531 9.7 9.7 19.3
325 633 1.1 1.1 20.4
Valid 3.50 6427 11.2 11.3 31.7
375 1107 1.9 1.9 33.6
4.00 9206 16.1 16.2 49.8
4.25 760 1.3 1.3 51.1
4.50 9161 16.0 16.1 67.2
4.75 1004 1.8 1.8 68.9
5.00 7350 12.8 12.9 81.9
525 411 .7 7 82.6
5.50 4122 7.2 7.2 89.8
575 281 .5 .5 90.3
6.00 3194 5.6 5.6 95.9
6.25 143 2 3 96.2
6.50 1280 2.2 2.2 98.4
6.75 99 2 2 98.6
7.00 610 1.1 1.1 99.7
a2s 13 .0 .0 99.7
7.50 150 3 3 99.9
7 A5 6 .0 .0 99.9
8.00 26 .0 .0 100.0
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8.50 2 .0 .0 100.0
Valid |9.00 1 0 0 100.0
Total 56959 99.5 100.0
Missing System 303 5
Total 57262 100.0
n2 3
Frequency | Percent | Valid Percent | Cumulative Percent
.00 92 2 2 2
.25 101 2 2 3
.50 337 .6 .6 .9
.75 121 2 2 1.1
1.00 1545 2.7 2.7 3.9
1.25 315 .6 .6 4.4
1.50 2767 4.8 4.9 9.3
1.75 722 1.3 1.3 10.5
2.00 7497 13.1 13.2 23.7
2.25 793 1.4 1.4 25.1
2.50 8044 14.0 14.1 39.2
2.75 1511 2.6 2.7 41.9
3.00 14478 25.3 25.4 67.3
3.25 943 1.6 1.7 69.0
3.50 8030 14.0 14.1 83.1
3.75 716 1.3 1.3 84.3
4.00 5973 10.4 10.5 94.8
4.25 271 5 .5 95.3
4.50 1989 3.5 3.5 98.8
4.75 104 2 2 99.0
5.00 523 9 9 99.9
5.25 14 .0 .0 99.9
5.50 50 .1 .1 100.0
5.75 1 .0 .0 100.0
6.00 5 .0 .0 100.0
Total 56942 99.4 100.0
Missing System 320 .6
Total 57262 100.0
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n2 4

Frequency | Percent | Valid Percent | Cumulative Percent

.00 13275 23.2 27.8 27.8

.25 4127 7.2 8.7 36.5

.50 12597 22.0 26.4 62.9

e 3880 6.8 8.1 71.1

1.00 7506 13.1 15.7 86.8

1.25 1414 2.5 3.0 89.8

1.50 3392 5.9 7.1 96.9

1.75 686 1.2 1.4 98.3

2.00 706 1.2 1.5 99.8

223 93 2 2 100.0

Total 47676 83.3 100.0
Missing System 9586 16.7
Total 57262 100.0
n2_5

Frequency | Percent | Valid Percent | Cumulative Percent

.00 56 .1 .1 .1

05 269 .5 .5 .6

.50 2153 3.8 3.8 4.3

.75 2030 3.5 3.6 7.9

1.00 9218 16.1 16.1 24.0

1.25 4116 7.2 7.2 31.2

1.50 17841 31.2 31.2 62.4

1.75 7544 13.2 13.2 75.7

2.00 11270 19.7 19.7 95.4

2.25 2642 4.6 4.6 100.0

Total 57139 99.8 100.0

Missing System 123 2
Total 57262 100.0
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arabe/60 |sociologie/80 |economie/80 |biologie/20 |chimie/20 |tarbia/30 |philo/50 |geo/30 tarikh/30 math/70 physique20
Valid 18000 18220 18075 18116 18110 18120 18002 18077 18246 18048 18115
N Missing | 1223 1003 1148 1107 1113 1103 1221 1146 977 1175 1108

Mean 30.4392 |49.7773 51.9479 10.1021 12.8537 17.2972 126.5939 |16.0830 14.7239 40.8457 13.3423
Median 30.0000 |[51.0000 53.0000 10.0000 13.0000 17.0000 |28.0000 |16.0000 15.0000 43.0000 14.0000
Mode 33.00 53.00 53.00 10.00 14.00 18.00 30.00 15.00 15.00 44.00 15.00
Std. Deviation 5.89863 |[11.66672 12.91494 2.93151 3.01825 3.65855 |9.24809 |4.12472 7.47595 13.81881 3.67298
Skewness -.399 -.752 -.677 .060 -.616 -.074 -.318 -.022 .042 -.540 -.625
Std. Error of Skewness |.018 .018 .018 .018 .018 .018 .018 .018 .018 .018 .018
Minimum 1.00 0.00 0.00 0.00 0.00 1.00 0.00 0.00 0.00 0.00 0.00
Maximum 52.00 79.00 80.00 20.00 20.00 30.00 49.00 29.00 30.00 70.00 20.00

25 27.0000 |[43.0000 44.0000 8.0000 11.0000 15.0000 |20.0000 |13.0000 9.0000 33.0000 11.0000
Percentiles |50 30.0000 |[51.0000 53.0000 10.0000 13.0000 17.0000 |28.0000 |16.0000 15.0000 43.0000 14.0000

75 34.0000 |58.0000 61.0000 12.0000 15.0000 20.0000 |34.0000 |19.0000 21.0000 51.0000 16.0000
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Frequency Table
Frequency Percent Valid Percent Cumulative Percent

1.00 .0 .0 .0
2.00 2 .0 .0 .0
3.00 12 1 1 1
4.00 4 .0 .0 .1
5.00 4 .0 .0 .1
6.00 9 .0 1 2
7.00 7 .0 .0 2
8.00 5 .0 .0 3
9.00 11 1 1 3
10.00 12 1 1 4
11.00 11 1 1 4
12.00 39 2 2 7
13.00 19 1 1 .8
14.00 21 .1 .1 9
15.00 70 4 4 1.3
16.00 60 3 3 1.6
17.00 66 3 4 2.0
18.00 188 1.0 1.0 3.0
19.00 156 .8 9 3.9
20.00 158 .8 9 4.8
21.00 418 2.2 2.3 7.1

Valid 22.00 266 1.4 1.5 8.6
23.00 324 1.7 1.8 10.4
24.00 924 4.8 5.1 15.5
25.00 525 2.7 2.9 18.4
26.00 629 33 3.5 21.9
27.00 1502 7.8 8.3 30.2
28.00 831 43 4.6 349
29.00 903 4.7 5.0 39.9
30.00 1848 9.6 10.3 50.1
31.00 929 4.8 5.2 55.3
32.00 1002 5.2 5.6 60.9
33.00 1878 9.8 10.4 71.3
34.00 834 4.3 4.6 75.9
35.00 786 4.1 4.4 80.3
36.00 1223 6.4 6.8 87.1
37.00 471 2.5 2.6 89.7
38.00 413 2.1 2.3 92.0
39.00 603 3.1 3.4 95.4
40.00 195 1.0 1.1 96.4
41.00 195 1.0 1.1 97.5
42.00 209 1.1 1.2 98.7
43.00 72 4 4 99.1
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44.00 49 3 3 99.4
45.00 51 .3 3 99.6
46.00 26 1 .1 99.8
47.00 16 1 1 99.9
48.00 15 1 1 100.0
Valid
49.00 2 0 0 100.0
50.00 2 .0 .0 100.0
51.00 1 .0 .0 100.0
52.00 2 .0 .0 100.0
Total 18000 93.6 100.0
Missing | System | 1223 6.4
Total 19223 100.0
Statistics
nl 1 | nl 2| nl3|nl4|nl5|nl6|nl7|n2l1|n22)|n23 n3
Valid 17953 | 17931| 17951| 17833 | 17918 | 17608| 17906| 17836| 17898 | 17440| 17588
N Missing 47 69 49 167 82 392 94 164 102 560 412
Mean 5190 1.0514 | 1.2486| .2284| .6272| .7330| .5919| .5942|2.7803| .5279|1.2177
Median .5000 | 1.0000| 1.2500| 0.0000| .7500| .7500| .7500| .5000| 3.0000| .5000| 1.2500
Mode .50 1.25 1.25 0.00 .50 75 75 75 3.00 .50 1.50
Std. Deviation 23440 .26423 | .32494| .29774| .20741 | .39771 | .24372| .17887 | .76692 | .18098 | .52792
Skewness -.380| -1.420| -.671| 1.031| -.187 .010] -595| -391| -201] -.144 169
Std. Error of Skewness .018 .018 .018 .018 .018 .018 .018 .018 .018 .019 .018
25 .5000 | 1.0000 | 1.0000| 0.0000| .5000| .5000| .5000| .5000|2.2500| .5000| .7500
Percentiles |50 .5000 | 1.0000 | 1.2500| 0.0000| .7500| .7500| .7500| .5000| 3.0000| .5000| 1.2500
75 .7500| 1.2500| 1.5000| .5000| .7500]| 1.0000| .7500| .7500| 3.2500| .7500 | 1.5000
Frequency Table
nl 1
Frequency | Percent | Valid Percent | Cumulative Percent
.00 1214 6.7 6.8 6.8
25 2970 16.5 16.5 23.3
.50 7660 42.6 42.7 66.0
Valid .75 5459 30.3 30.4 96.4
1.00 650 3.6 3.6 100.0
Total 17953 99.7 100.0
System 47 3
2.00 15109 26.4 26.4 32.7
Missing System 13 .0
Total 18000 100.0
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nl 2
Frequency | Percent | Valid Percent | Cumulative Percent
.00 218 12 1.2 1.2
S 271 1.5 1.5 2.7
.50 887 4.9 4.9 7.7
Vb 1468 8.2 8.2 15.9
Valid
1.00 7084 39.4 39.5 55.4
125 7389 41.1 41.2 96.6
1.50 614 3.4 3.4 100.0
Total 17931 99.6 100.0
Missing System 69 4
Total 18000 100.0
nl_3
Frequency | Percent | Valid Percent | Cumulative Percent
.00 79 4 4 4
25 170 9 9 1.4
.50 522 2.9 2.9 4.3
e 1219 6.8 6.8 11.1
1.00 3581 19.9 19.9 31.0
Valid
25 5617 31.2 31.3 62.3
1.50 5121 28.5 28.5 90.9
1,75 1485 8.3 8.3 99.1
2.00 157 9 9 100.0
Total 17951 99.7 100.0
Missing System 49 3
Total 18000 100.0
nl_4
Frequency | Percent | Valid Percent | Cumulative Percent
.00 9795 54.4 54.9 54.9
25 2815 15.6 15.8 70.7
.50 2844 15.8 15.9 86.7
Valid
e 1725 9.6 9.7 96.3
1.00 654 3.6 3.7 100.0
Total 17833 99.1 100.0
Missing System 167 9
Total 18000 100.0
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nl 5
Frequency | Percent | Valid Percent | Cumulative Percent
.00 200 1.1 1.1 1.1
2 1435 8.0 8.0 9.1
.50 7225 40.1 40.3 49.4
Valid
e 7166 39.8 40.0 89.4
1.00 1892 10.5 10.6 100.0
Total 17918 99.5 100.0
Missing System 82 .5
Total 18000 100.0
nl 6
Frequency | Percent | Valid Percent | Cumulative Percent
.00 1290 7.2 7.3 7.3
25 2095 11.6 11.9 19.2
.50 3809 21.2 21.6 40.9
e 3849 21.4 21.9 62.7
Valid
1.00 3436 19.1 19.5 82.2
25 2151 12.0 12.2 94.4
1.50 978 5.4 5.6 100.0
Total 17608 97.8 100.0
Missing System 392 2.2
Total 18000 100.0
nl 7
Frequency | Percent | Valid Percent | Cumulative Percent
.00 926 5.1 5.2 5.2
25 2189 12.2 12.2 17.4
.50 5629 31.3 31.4 48.8
Valid
Yo 7702 42.8 43.0 91.8
1.00 1460 8.1 8.2 100.0
Total 17906 99.5 100.0
Missing | System 94 5
Total 18000 100.0
n2 1
Frequency | Percent | Valid Percent | Cumulative Percent
.00 37 2 2 2
.25 1990 11.1 11.2 11.4
.50 7397 41.1 41.5 52.8
Valid
.75 8042 44.7 45.1 97.9
1.00 370 2.1 2.1 100.0
Total 17836 99.1 100.0
Missing System 164 9
Total 18000 100.0
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n2 2
Frequency | Percent | Valid Percent | Cumulative Percent
.00 11 .1 .1 .1
S 20 .1 .1 2
.50 45 3 3 4
Vb 33 2 2 .6
1.00 286 1.6 1.6 2.2
125 195 1.1 1.1 3.3
1.50 907 5.0 5.1 8.4
1.75 537 3.0 3.0 11.4
2.00 1964 10.9 11.0 22.3
2.25 786 4.4 4.4 26.7
2.50 2418 13.4 13.5 40.2
27D 1618 9.0 9.0 49.3
Valid
3.00 3838 21.3 21.4 70.7
325 1083 6.0 6.1 76.8
3.50 2053 11.4 11.5 88.2
375 699 3.9 3.9 92.1
4.00 903 5.0 5.0 97.2
4.25 184 1.0 1.0 98.2
4.50 252 1.4 1.4 99.6
4.75 46 3 3 99.9
5.00 16 .1 .1 100.0
5.25 2 .0 .0 100.0
5.50 2 .0 .0 100.0
Total 17898 99.4 100.0
Missing System 102 .6
Total 18000 100.0
n2_ 3
Frequency | Percent | Valid Percent | Cumulative Percent
.00 141 .8 .8 .8
.25 3109 17.3 17.8 18.6
.50 9022 50.1 51.7 70.4
.75 4996 27.8 28.6 99.0
1.00 172 1.0 1.0 100.0
Total 17440 96.9 100.0
Missing System 560 3.1
Total 18000 100.0
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n2 3
Frequency | Percent | Valid Percent | Cumulative Percent
.00 141 .8 .8 .8
5 3109 17.3 17.8 18.6
.50 9022 50.1 51.7 70.4
Valid
e 4996 27.8 28.6 99.0
1.00 172 1.0 1.0 100.0
Total 17440 96.9 100.0
Missing System 560 3.1
Total 18000 100.0
n2 3
Frequency | Percent | Valid Percent | Cumulative Percent
.00 122 7 7 7
25 642 3.6 3.7 4.3
.50 1737 9.7 9.9 14.2
e 2393 13.3 13.6 27.8
1.00 3077 17.1 17.5 45.3
1.25 2591 14.4 14.7 60.1
1.50 3178 17.7 18.1 78.1
Valid
1.75 1822 10.1 10.4 88.5
2.00 1300 7.2 7.4 95.9
DS 431 2.4 2.5 98.3
2.50 243 1.4 1.4 99.7
25 44 2 3 100.0
3.00 8 .0 .0 100.0
Total 17588 97.7 100.0
Missing System 412 2.3
Total 18000 100.0
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arabe/90 | philoa/60 biologie/20  |chimie/20 |tarbia/30 |philog/60 |geo/40 |tarikh/30 |math/40 physique/20
Valid 1917 1936 1925 1923 1926 1913 1916 1917 1938 1924
N Missing | 213 194 205 207 204 217 214 213 192 206

Mean 49.8738 |36.2180 8.1870 12.1539 16.3531 36.2614 23.3993 |15.2822 21.7606 11.6040
Median 50.0000 |38.0000 8.0000 13.0000 16.0000 38.0000 24.0000 |15.0000 22.0000 12.0000
Mode 52.00 42.00 7.00 14.00 17.00 42.00 24.00 12.00 25.00 11.00
Std. Deviation 9.14929 |11.03651 3.14023 3.29762 3.66818 10.22563 4.90801 |6.48534 8.56006 4.03689
Skewness -.462 -.824 .385 -473 .033 -.710 -.255 -.023 -.180 -.216
Std. Error of Skewness |.056 .056 .056 .056 .056 .056 .056 .056 .056 .056
Minimum 5.00 0.00 0.00 1.00 1.00 3.00 2.00 0.00 0.00 0.00
Maximum 81.00 59.00 19.00 20.00 29.00 59.00 39.00 30.00 39.00 20.00

25 44.0000 |30.0000 6.0000 10.0000 14.0000 30.0000 20.0000 |11.0000 16.0000 9.0000
Percentiles |50 50.0000 |38.0000 8.0000 13.0000 16.0000 38.0000 24.0000 |15.0000 22.0000 12.0000

75 56.0000 |45.0000 10.0000 14.0000 19.0000 44.0000 27.0000 |20.0000 28.0000 15.0000
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Frequency Table
Frequency Percent Valid Percent Cumulative Percent

5.00 1 .0 1 .1
7.00 1 .0 .1 1
12.00 1 0 1 2
13.00 1 .0 .1 2
14.00 1 .0 .1 3
15.00 1 .0 .1 3
17.00 2 .1 .1 4
18.00 1 .0 .1 5
20.00 1 .0 .1 5
21.00 1 .0 .1 .6
22.00 4 2 2 .8
23.00 1 .0 .1 .8
24.00 2 .1 .1 9
25.00 3 1 2 1.1
26.00 6 3 3 1.4
27.00 5 2 3 1.7
29.00 9 4 5 2.1
30.00 8 4 4 2.6
31.00 6 3 3 2.9
32.00 15 .7 .8 3.7
33.00 13 6 7 43

Valid 34.00 19 9 1.0 5.3
35.00 17 .8 9 6.2
36.00 26 1.2 1.4 7.6
38.00 30 1.4 1.6 9.1
39.00 34 1.6 1.8 10.9
40.00 58 2.7 3.0 13.9
41.00 46 2.2 2.4 16.3
42.00 64 3.0 3.3 19.7
43.00 65 3.1 34 23.1
44.00 72 3.4 3.8 26.8
45.00 85 4.0 4.4 31.2
47.00 88 4.1 4.6 35.8
48.00 97 4.6 5.1 40.9
49.00 89 4.2 4.6 45.5
50.00 90 4.2 4.7 50.2
51.00 94 4.4 4.9 55.1
52.00 114 5.4 5.9 61.1
53.00 102 4.8 5.3 66.4
54.00 95 4.5 5.0 71.4
56.00 88 4.1 4.6 76.0
57.00 74 3.5 3.9 79.8
58.00 74 3.5 3.9 83.7
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59.00 56 2.6 2.9 86.6
60.00 57 2.7 3.0 89.6
61.00 32 1.5 1.7 91.2
62.00 41 1.9 2.1 93.4
63.00 32 1.5 1.7 95.0
65.00 30 1.4 1.6 96.6
66.00 8 4 4 97.0
67.00 20 9 1.0 98.1
68.00 13 .6 7 98.7
el 69.00 7 3 4 99.1
70.00 3 1 2 99.3
71.00 5 2 3 99.5
72.00 4 2 2 99.7
74.00 1 .0 .1 99.8
75.00 1 .0 1 99.8
76.00 2 1 1 99.9
81.00 1 0 1 100.0
Total 1917 90.0 100.0
Missing | System | 213 10.0
Total 2130 100.0
Statistics
nl 1| nl 2 |nl3|nl4|nl5|nl6|nl7|nl8|n2l1|n22]|n23 n3
- Valid 1911 1902| 1907| 1895| 1901| 1900| 1904| 1901| 1908| 1916| 1881 1884
Missing 6 15 10 22 16 17 13 16 9 1 36 33
Mean 4746 .4314| .7386| .5142| .8098|1.0821| .7333| .8342| .6661|3.2004| .5772|1.0001
Median .5000| .5000| .7500| .5000| .7500|1.2500| .7500| .7500| .7500|3.2500| .5000 |1.0000
Mode .25 .50 .75 .50 .75 1.25 .75 .75 .75 3.00 .50 1.00
Std. Deviation .25106| .28351| .17770| .25366 | .28906 | .34684 | .42395|.47039 |.15734|.76323|.17197|.37889
Skewness 571 202 -.610| -.075| -.165| -.890| .073| .129| -.644| -399| -.224| -.048
Std. Error of Skewness .056| .056| .056| .056| .056| .056| .056| .056| .056| .056| .056| .056
25 .2500| .2500| .7500| .2500| .5000|1.0000| .2500| .5000| .5000|2.7500| .5000| .7500
Percentiles |50 .5000| .5000| .7500| .5000| .7500|1.2500| .7500| .7500| .7500]3.2500| .5000 | 1.0000
75 .7500| .7500| .7500| .7500] 1.0000 | 1.2500 | 1.0000 |1.2500| .7500|3.7500| .7500|1.2500
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Frequency Table
nl 1
Frequency | Percent | Valid Percent | Cumulative Percent
.00 37 1.9 1.9 1.9
25 804 41.9 42.1 44.0
.50 541 28.2 28.3 72.3
Valid
IS 374 19.5 19.6 91.9
1.00 155 8.1 8.1 100.0
Total 1911 99.7 100.0
Missing System 6 3
Total 1917 100.0
nl 2
Frequency | Percent | Valid Percent | Cumulative Percent
.00 289 15.1 15.2 15.2
25 561 29.3 29.5 44.7
.50 562 29.3 29.5 74.2
Valid
IS 363 18.9 19.1 93.3
1.00 127 6.6 6.7 100.0
Total 1902 99.2 100.0
Missing System 15 .8
Total 1917 100.0
nl 3
Frequency | Percent | Valid Percent | Cumulative Percent
.00 4 2 2 15.2
25 61 3.2 3.2 44.7
.50 320 16.7 16.8 74.2
Valid
e 1155 60.3 60.6 93.3
1.00 367 19.1 19.2 100.0
Total 1907 99.5 100.0
Missing | System 10 5
Total 1917 100.0
nl 4
Frequency | Percent | Valid Percent | Cumulative Percent
.00 124 6.5 6.5 6.5
25 415 21.6 21.9 28.4
.50 722 37.7 38.1 66.5
Valid
IS 497 25.9 26.2 92.8
1.00 137 7.1 7.2 100.0
Total 1895 98.9 100.0
Missing System 22 1.1
Total 1917 100.0
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nl 5
Frequency | Percent | Valid Percent | Cumulative Percent
.00 20 1.0 1.1 1.1
25 92 4.8 4.8 5.9
.50 389 20.3 20.5 26.4
e 612 31.9 32.2 58.5
Valid
1.00 500 26.1 26.3 84.9
1.25 276 14.4 14.5 99.4
1.50 12 .6 .6 100.0
Total 1901 99.2 100.0
Missing System 16 .8
Total 1917 100.0
nl 5
Frequency | Percent | Valid Percent | Cumulative Percent
.00 20 1.0 1.1 1.1
25 92 4.8 4.8 5.9
.50 389 20.3 20.5 26.4
.75 612 31.9 32.2 58.5
Valid
1.00 500 26.1 26.3 84.9
1.25 276 14.4 14.5 99.4
1.50 12 .6 .6 100.0
Total 1901 99.2 100.0
Missing System 16 .8
Total 1917 100.0
nl_6
Frequency | Percent | Valid Percent | Cumulative Percent
.00 31 1.6 1.6 1.6
.25 43 2.2 2.3 3.9
.50 156 8.1 8.2 12.1
. .75 188 9.8 9.9 22.0
Valid
1.00 499 26.0 26.3 48.3
1.25 589 30.7 31.0 79.3
1.50 394 20.6 20.7 100.0
Total 1900 99.1 100.0
Missing System 17 9
Total 1917 100.0
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nl 7
Frequency | Percent | Valid Percent | Cumulative Percent
.00 123 6.4 6.5 6.5
25 385 20.1 20.2 26.7
.50 211 11.0 11.1 37.8
IS 533 27.8 28.0 65.8
Valid
1.00 210 11.0 11.0 76.8
1.25 313 16.3 16.4 93.2
1.50 129 6.7 6.8 100.0
Total 1904 99.3 100.0
Missing | System 13 7
Total 1917 100.0
nl_8
Frequency | Percent | Valid Percent | Cumulative Percent
.00 96 5.0 5.0 5.0
25 224 11.7 11.8 16.8
.50 413 21.5 21.7 38.6
.75 442 23.1 23.3 61.8
Valid
1.00 90 4.7 4.7 66.5
1.25 209 10.9 11.0 77.5
1.50 427 22.3 22.5 100.0
Total 1901 99.2 100.0
Missing System 16 .8
Total 1917 100.0
n2 1
Frequency | Percent | Valid Percent | Cumulative Percent
.25 83 4.3 4.4 4.4
.50 556 29.0 29.1 33.5
Valid |.75 1187 61.9 62.2 95.7
1.00 82 4.3 4.3 100.0
Total 1908 99.5 100.0
Missing System 9 5
Total 1917 100.0
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n2 2
Frequency | Percent | Valid Percent | Cumulative Percent
.25 1 1 1 1
.50 2 .1 1 2
e 2 2 3
1.00 15 .8 .8 1.1
1.25 9 .5 .5 1.6
1.50 33 1.7 1.7 3.3
1.75 26 1.4 1.4 4.6
2.00 92 4.8 4.8 9.4
22 63 3.3 3.3 12.7
2.50 149 7.8 7.8 20.5
Valid 275 193 10.1 10.1 30.6
3.00 319 16.6 16.6 47.2
325 145 7.6 7.6 54.8
3.50 317 16.5 16.5 71.3
375 145 7.6 7.6 78.9
4.00 224 11.7 11.7 90.6
4.25 65 3.4 3.4 94.0
4.50 95 5.0 5.0 99.0
4.75 13 .7 7 99.6
5.00 6 3 3 99.9
52 1 .1 .1 100.0
Total 1916 99.9 100.0
Missing | System 1 1
Total 1917 100.0
n2 3
Frequency | Percent | Valid Percent | Cumulative Percent
.00 2 1 1 1
5] 209 10.9 11.1 11.2
Valid .50 905 47.2 48.1 59.3
e 736 384 39.1 98.5
1.00 29 1.5 1.5 100.0
Total 1881 98.1 100.0
Missing System 36 1.9
Total 1917 100.0
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n3
Frequency | Percent | Valid Percent | Cumulative Percent
.00 12 .6 .6 .6
25 70 3.7 3.7 4.4
.50 246 12.8 13.1 17.4
e 379 19.8 20.1 37.5
Valid 1.00 467 24.4 24.8 62.3
1.25 370 19.3 19.6 82.0
1.50 265 13.8 14.1 96.0
1.75 70 3.7 3.7 99.7
2.00 5 3 3 100.0
Total 1884 98.3 100.0
Missing System 33 1.7
Total 1917 100.0
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arabe/50 |biologie/100 |chimie/80 tarbia/30 philo/40 | geo/30 tarikh/30 | math/80 physique/80
N Valid 13305 13316 13305 13333 13368 13316 13323 13377 13322

Missing | 892 881 892 864 829 881 874 820 875
Mean 29.8503 |70.7881 56.1680 20.4808 24.5762 18.6222 21.5293 55.4428 59.5519
Median 30.0000 |72.0000 58.0000 20.0000 26.0000 19.0000 23.0000 57.0000 63.0000
Mode 32.00 80.00 60.00 20.00 28.00 20.00 27.00 70.00 80.00
Std. Deviation 5.89338 |14.98751 14.75878 4.09518 7.28065 4.98390 6.13255 15.34733 15.85316
Skewness -.388 -.623 -.611 -.117 -.673 -.177 -.847 -.609 -.812
Std. Error of Skewness |.021 .021 .021 .021 .021 .021 .021 .021 .021
Minimum 0.00 0.00 0.00 2.00 0.00 1.00 0.00 0.00 0.00
Maximum 47.00 100.00 80.00 30.00 39.00 30.00 30.00 80.00 80.00

25 26.0000 |61.0000 46.0000 18.0000 20.0000 15.0000 18.0000 46.0000 49.0000
Percentiles |50 30.0000 |72.0000 58.0000 20.0000 26.0000 19.0000 23.0000 57.0000 63.0000

75 34.0000 |82.0000 68.0000 23.0000 30.0000 23.0000 27.0000 68.0000 72.0000
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Frequency Table
Frequency Percent Valid Percent Cumulative Percent

.00 1 .0 .0 .0
2.00 1 .0 .0 .0
4.00 5 .0 .0 1
5.00 1 .0 .0 1
6.00 1 .0 .0 1
7.00 3 .0 .0 .1
8.00 3 .0 .0 1
9.00 6 .0 .0 2
10.00 8 .1 .1 2
11.00 8 1 1 3
12.00 19 .1 .1 4
13.00 21 .1 2 .6
14.00 41 3 3 9
15.00 63 4 5 1.4
16.00 44 3 3 1.7
17.00 135 1.0 1.0 2.7
18.00 81 .6 .6 3.3
19.00 224 1.6 1.7 5.0
20.00 278 2.0 2.1 7.1
21.00 180 1.3 1.4 8.4
22.00 410 2.9 3.1 11.5

Valid 23.00 261 1.8 2.0 13.5
24.00 635 4.5 4.8 18.3
25.00 707 5.0 53 23.6
26.00 413 2.9 3.1 26.7
27.00 861 6.1 6.5 33.1
28.00 493 3.5 3.7 36.9
29.00 1054 7.4 7.9 44.8
30.00 1091 7.7 8.2 53.0
31.00 605 4.3 4.5 57.5
32.00 1211 8.5 9.1 66.6
33.00 531 3.7 4.0 70.6
34.00 976 6.9 7.3 77.9
35.00 832 5.9 6.3 84.2
36.00 356 2.5 2.7 86.9
37.00 610 4.3 4.6 91.5
38.00 262 1.8 2.0 93.4
39.00 403 2.8 3.0 96.5
40.00 220 1.5 1.7 98.1
41.00 89 .6 7 98.8
42.00 98 7 7 99.5
43.00 29 2 2 99.7
44.00 21 .1 2 99.9
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45.00 12 1 1 100.0
46.00 1 .0 .0 100.0
47.00 1 .0 .0 100.0
Total 13305 93.7 100.0
Missing | System | 892 6.3
Total 14197 100.0
Statistics
nl 1 nl 2 | nl3|nl4|nl5)|nl6 | nl7|nl8| n2l n2 2 | n2 3
N Valid 13293 | 13286 | 13223 | 13278 | 13294 | 13262 | 13293 | 13224 | 13287| 13296| 13208
Missing 12 19 82 27 11 43 12 81 18 9 97
Mean .6694| .9496| .5194| .7075| 1.3442| .8299| 1.2609| .6137| .8932]| 3.2036| .7985
Median .7500| 1.0000| .5000| .7500| 1.2500| .7500| 1.2500| .7500| 1.0000| 3.2500| .7500
Mode .50 1.00 .75 1.00 1.50 1.00 1.50 .75 1.00 3.00 1.00
Std. Deviation .25050| .39905 | .33367 | .29268 | .34024 | .30545| .47163 | .32052| .29977 | .79241| .29891
Skewness -280| -.613| -.178| -.754| -323| -457| -.492| -847| -379| -300| -.098
Std. Error of Skewness .021| .021| .021| .021| .021| .021| .021| .021| .021| .021| .021
25 .5000| .7500| .2500| .5000| 1.0000| .7500| 1.0000| .5000| .7500]| 2.7500| .5000
Percentiles |50 .7500 | 1.0000| .5000| .7500| 1.2500| .7500| 1.2500| .7500 | 1.0000| 3.2500| .7500
75 .7500 | 1.2500| .7500| 1.0000 | 1.5000| 1.0000 | 1.5000| .7500 | 1.0000| 3.7500 | 1.0000
Frequency Table
nl 1
Frequency | Percent | Valid Percent | Cumulative Percent
.00 235 1.8 1.8 1.8
.25 1196 9.0 9.0 10.8
Valid .50 4508 33.9 33.9 44.7
.75 4034 30.3 30.3 75.0
1.00 3320 25.0 25.0 100.0
Total 13293 99.9 100.0
Missing | System 12 1
Total 13305 100.0
nl 2
Frequency | Percent | Valid Percent | Cumulative Percent
.00 759 5.7 5.7 5.7
.25 409 3.1 3.1 8.8
.50 1372 10.3 10.3 19.1
Valid .75 2280 17.1 17.2 36.3
1.00 3955 29.7 29.8 66.0
1.25 2416 18.2 18.2 84.2
1.50 2095 15.7 15.8 100.0
Total 13286 99.9 100.0
Missing | System 19 1
Total 13305 100.0
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nl 3
Frequency | Percent | Valid Percent | Cumulative Percent
.00 2346 17.6 17.7 17.7
25 2108 15.8 15.9 33.7
Valid .50 3099 23.3 234 57.1
.75 3513 26.4 26.6 83.7
1.00 2157 16.2 16.3 100.0
Total 13223 99.4 100.0
Missing | System 82 .6
Total 13305 100.0
nl_4
Frequency | Percent | Valid Percent | Cumulative Percent
.00 614 4.6 4.6 4.6
25 1402 10.5 10.6 15.2
Valid .50 2530 19.0 19.1 34.2
IS 3815 28.7 28.7 63.0
1.00 4917 37.0 37.0 100.0
Total 13278 99.8 100.0
Missing | System 27 2
Total 13305 100.0
nl 5
Frequency | Percent | Valid Percent | Cumulative Percent
.00 15 1 1 .1
25 43 3 3 4
.50 205 1.5 1.5 2.0
.75 840 6.3 6.3 8.3
Valid 1.00 2352 17.7 17.7 26.0
1.25 3417 25.7 25.7 51.7
1.50 3455 26.0 26.0 77.7
1.75 2454 18.4 18.5 96.1
2.00 513 3.9 3.9 100.0
Total 13294 99.9 100.0
Missing | System 11 1
Total 13305 100.0
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nl 6
Frequency | Percent | Valid Percent | Cumulative Percent
.00 265 2.0 2.0 2.0
25 759 5.7 5.7 7.7
.50 2234 16.8 16.8 24.6
Valid .75 3425 25.7 25.8 50.4
1.00 4522 34.0 34.1 84.5
1.25 1908 14.3 14.4 98.9
1.50 149 1.1 1.1 100.0
Total 13262 99.7 100.0
Missing | System 43 3
Total 13305 100.0
nl 7
Frequency | Percent | Valid Percent | Cumulative Percent
.00 152 1.1 1.1 1.1
25 455 34 34 4.6
.50 880 6.6 6.6 11.2
.75 1386 10.4 10.4 21.6
Valid 1.00 1928 14.5 14.5 36.1
1.25 2243 16.9 16.9 53.0
1.50 2931 22.0 22.0 75.0
1.75 2387 17.9 18.0 93.0
2.00 931 7.0 7.0 100.0
Total 13293 99.9 100.0
Missing | System 12 1
Total 13305 100.0
nl_8
Frequency | Percent | Valid Percent | Cumulative Percent
.00 2053 154 15.5 15.5
25 802 6.0 6.1 21.6
Valid .50 1712 12.9 12.9 34.5
75 6390 48.0 48.3 82.9
1.00 2267 17.0 17.1 100.0
Total 13224 99.4 100.0
Missing | System 81 .6
Total 13305 100.0
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n2 1
Frequency | Percent | Valid Percent | Cumulative Percent
.00 35 3 3 3
25 602 4.5 4.5 4.8
.50 2233 16.8 16.8 21.6
Valid .75 2702 20.3 20.3 41.9
1.00 4512 33.9 34.0 75.9
1.25 2966 22.3 22.3 98.2
1.50 237 1.8 1.8 100.0
Total 13287 99.9 100.0
Missing | System 18 1
Total 13305 100.0
n2 2
Frequency | Percent | Valid Percent | Cumulative Percent
.00 7 .1 .1 .1
25 1 .0 .0 1
.50 12 .1 .1 2
75 12 .1 1 2
1.00 99 7 7 1.0
1.25 58 4 4 1.4
1.50 331 2.5 2.5 3.9
1.75 119 9 9 4.8
2.00 803 6.0 6.0 10.8
2.25 264 2.0 2.0 12.8
2.50 1358 10.2 10.2 23.0
Valid 2.75 687 5.2 5.2 28.2
3.00 2776 20.9 20.9 49.1
3.25 762 5.7 5.7 54.8
3.50 2187 16.4 16.4 71.3
3.75 763 5.7 5.7 77.0
4.00 1798 13.5 13.5 90.5
4.25 309 2.3 2.3 92.9
4.50 674 5.1 5.1 97.9
4.75 104 8 .8 98.7
5.00 152 1.1 1.1 99.8
525 15 1 .1 100.0
5.50 5 .0 .0 100.0
Total 13296 99.9 100.0
Missing | System 9 1
Total 13305 100.0
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n2 3
Frequency | Percent | Valid Percent | Cumulative Percent
.00 111 .8 8 8
25 773 5.8 5.9 6.7
.50 3291 24.7 24.9 31.6
Valid .75 3297 24.8 25.0 56.6
1.00 3878 29.1 29.4 85.9
1.25 1721 12.9 13.0 99.0
1.50 137 1.0 1.0 100.0
Total 13208 99.3 100.0
Missing | System 97 7
Total 13305 100.0
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arabe/50 | chimie/80 |tarbia/30 |philo/40 |geo/30 |tarikh/30 |math/160 |physique/110
N Valid 5454 5487 5479 5454 5462 5492 5476 5462

Missing | 641 608 616 641 633 603 619 633
Mean 29.6815 |56.1531 20.6514 [23.2118 |19.1115 |20.9494 |123.4512 |75.8458
Median 30.0000 |58.0000 21.0000 |24.0000 |19.0000 |23.0000 |131.0000 |80.0000
Mode 30.00 66.00 21.00 28.00 21.00 27.00 148.00 99.00
Std. Deviation 5.61216 [14.68737 |4.22108 |7.33434 |4.93189 |6.95525 |28.02247 |22.85384
Skewness -.186 -.624 -.084 -.454 -.151 -.798 -1.226 -.702
Std. Error of Skewness |.033 .033 .033 .033 .033 .033 .033 .033
Minimum 6.00 0.00 2.00 2.00 4.00 0.00 1.00 2.00
Maximum 47.00 80.00 30.00 39.00 30.00 30.00 160.00 110.00

25 26.0000 |46.0000 18.0000 |18.0000 [15.0000 [16.0000 |109.0000 |[61.0000
Percentiles |50 30.0000 |58.0000 21.0000 ]24.0000 |19.0000 |23.0000 [131.0000 |80.0000

75 34.0000 |68.0000 24.0000 ]29.0000 |23.0000 |27.0000 |145.0000 |95.0000

| 91



laploTy 4yl dsll) sdiands)) B3LL

Frequency Table
Frequency Percent Valid Percent Cumulative Percent

6.00 1 .0 .0 .0
7.00 1 .0 .0 .0
10.00 1 .0 .0 1
11.00 1 .0 .0 1
12.00 11 2 2 3
13.00 3 .0 .1 3
14.00 10 2 2 5
15.00 21 3 4 9
16.00 6 .1 .1 1.0
17.00 38 .6 7 1.7
18.00 31 .5 .6 2.3
19.00 75 1.2 1.4 3.6
20.00 126 2.1 2.3 6.0
21.00 98 1.6 1.8 7.8
22.00 168 2.8 3.1 10.8
23.00 116 1.9 2.1 13.0
24.00 290 4.8 5.3 18.3
25.00 337 5.5 6.2 24.5
26.00 195 3.2 3.6 28.0

Valid 27.00 382 6.3 7.0 35.0
28.00 227 3.7 4.2 39.2
29.00 426 7.0 7.8 47.0
30.00 462 7.6 8.5 55.5
31.00 245 4.0 4.5 60.0
32.00 456 7.5 8.4 68.3
33.00 245 4.0 4.5 72.8
34.00 386 6.3 7.1 79.9
35.00 344 5.6 6.3 86.2
36.00 144 2.4 2.6 88.9
37.00 229 3.8 4.2 93.1
38.00 77 1.3 1.4 94.5
39.00 132 2.2 2.4 96.9
40.00 69 1.1 1.3 98.1
41.00 23 4 4 98.6
42.00 39 .6 7 99.3
43.00 16 3 3 99.6
44.00 16 3 3 99.9
45.00 6 .1 .1 100.0
47.00 1 .0 .0 100.0
Total 5454 89.5 100.0

Missing | System | 641 10.5
Total 6095 100.0
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Statistics
nl_1 nl 2 [ nl 3| nl 4| nl5|nlé6|nl7|nl8 | n21l n2 2 | n2_3
N Valid 5448 | 5446| 5423| 5449| 5449 5429| 5450| 5427| 5444| 5452 5412
Missing 6 8 31 5 5 25 4 27 10 2 42
Mean .6512| .9821| .5840| .7326| 1.3112| .8254| 1.2212| .6550| .8647]| 3.1305| .7658
Median .7500| 1.0000| .7500| .7500| 1.2500| .7500| 1.2500| .7500| 1.0000| 3.0000| .7500
Mode .50 1.00 .75 1.00 1.25 1.00 1.50 .75 1.00 3.00 .50
Std. Deviation 25227 .38705| .33081| .28279 | .32722| .28390| .46063 | .28815| .28184 | .74316| .28385
Skewness -160| -.620| -.409| -.857| -.099| -308| -.329| -1.082| -.302| -.160 .008
Std. Error of Skewness .033 .033 .033 .033 .033 .033 .033 .033 .033 .033 .033
25 .5000| .7500| .2500| .5000| 1.0000| .7500| 1.0000| .5000| .7500] 2.7500| .5000
Percentiles |50 .7500 | 1.0000| .7500| .7500| 1.2500| .7500| 1.2500| .7500 | 1.0000| 3.0000| .7500
75 .7500| 1.2500| .7500| 1.0000| 1.5000| 1.0000 | 1.5000| .7500 | 1.0000| 3.5000 | 1.0000
Frequency Table
nl_1
Frequency | Percent | Valid Percent | Cumulative Percent
.00 102 1.9 1.9 1.9
225 534 9.8 9.8 11.7
Valid .50 2061 37.8 37.8 49.5
.75 1469 26.9 27.0 76.5
1.00 1282 23.5 23.5 100.0
Total 5448 99.9 100.0
Missing | System 6 1
Total 5454 100.0
nl 2
Frequency | Percent | Valid Percent | Cumulative Percent
.00 235 4.3 4.3 4.3
25 123 2.3 2.3 6.6
.50 611 11.2 11.2 17.8
Valid 7S 850 15.6 15.6 334
1.00 1598 29.3 29.3 62.7
1.25 1066 19.5 19.6 82.3
1.50 963 17.7 17.7 100.0
Total 5446 99.9 100.0
Missing | System 8 1
Total 5454 100.0
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nl 3
Frequency | Percent | Valid Percent | Cumulative Percent
.00 742 13.6 13.7 13.7
25 704 12.9 13.0 26.7
Valid .50 1179 21.6 21.7 48.4
.75 1586 29.1 29.2 77.7
1.00 1212 22.2 22.3 100.0
Total 5423 99.4 100.0
Missing | System 31 .6
Total 5454 100.0
nl_4
Frequency | Percent | Valid Percent | Cumulative Percent
.00 191 3.5 3.5 3.5
25 542 9.9 9.9 13.5
Valid .50 916 16.8 16.8 30.3
IS 1606 29.4 29.5 59.7
1.00 2194 40.2 40.3 100.0
Total 5449 99.9 100.0
Missing | System 5 1
Total 5454 100.0
nl 5
Frequency | Percent | Valid Percent | Cumulative Percent
.00 .0 .0 .0
25 .1 .1 2
.50 68 1.2 1.2 1.4
.75 380 7.0 7.0 8.4
Valid 1.00 1172 21.5 21.5 29.9
1.25 1469 26.9 27.0 56.9
1.50 1359 24.9 24.9 81.8
1.75 820 15.0 15.0 96.9
2.00 171 3.1 3.1 100.0
Total 5449 99.9 100.0
Missing | System 5 1
Total 5454 100.0
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nl 6
Frequency | Percent | Valid Percent | Cumulative Percent
.00 54 1.0 1.0 1.0
25 269 4.9 5.0 5.9
.50 972 17.8 17.9 23.9
Valid .75 1589 29.1 29.3 53.1
1.00 1840 33.7 33.9 87.0
1.25 645 11.8 11.9 98.9
1.50 60 1.1 1.1 100.0
Total 5429 99.5 100.0
Missing | System 25 .5
Total 5454 100.0
nl 7
Frequency | Percent | Valid Percent | Cumulative Percent
.00 30 .6 .6 .6
25 210 3.9 3.9 4.4
.50 390 7.2 7.2 11.6
.75 680 12.5 12.5 24.0
Valid 1.00 876 16.1 16.1 40.1
1.25 968 17.7 17.8 57.9
1.50 1143 21.0 21.0 78.8
1.75 833 15.3 15.3 94.1
2.00 320 5.9 5.9 100.0
Total 5450 99.9 100.0
Missing | System 4 1
Total 5454 100.0
nl_8
Frequency | Percent | Valid Percent | Cumulative Percent
.00 569 10.4 10.5 10.5
25 297 5.4 5.5 16.0
Valid .50 722 13.2 13.3 29.3
75 2878 52.8 53.0 82.3
1.00 961 17.6 17.7 100.0
Total 5427 99.5 100.0
Missing | System 27 .5
Total 5454 100.0
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n2 1
Frequency | Percent | Valid Percent | Cumulative Percent
.00 6 .1 .1 .1
25 206 3.8 3.8 3.9
.50 1065 19.5 19.6 23.5
Valid .75 1207 22.1 22.2 45.6
1.00 1960 35.9 36.0 81.6
1.25 968 17.7 17.8 99.4
1.50 32 .6 .6 100.0
Total 5444 99.8 100.0
Missing | System 10 2
Total 5454 100.0
n2 2
Frequency | Percent | Valid Percent | Cumulative Percent
.00 1 .0 .0 .0
25 1 .0 .0 .0
.50 2 .0 .0 .1
75 2 .0 .0 1
1.00 26 .5 .5 .6
1.25 17 3 3 9
1.50 121 2.2 2.2 3.1
1.75 59 1.1 1.1 4.2
2.00 390 7.2 7.2 114
2.25 135 2.5 2.5 13.8
2.50 590 10.8 10.8 24.7
Valid 2.75 360 6.6 6.6 31.3
3.00 1184 21.7 21.7 53.0
3.25 383 7.0 7.0 60.0
3.50 905 16.6 16.6 76.6
3.75 338 6.2 6.2 82.8
4.00 561 10.3 10.3 93.1
4.25 88 1.6 1.6 94.7
4.50 204 3.7 3.7 98.4
4.75 45 8 8 99.3
5.00 33 .6 .6 99.9
5.25 3 .1 1 99.9
5.50 4 .1 1 100.0
Total 5452 100.0 100.0
Missing | System 2 .0
Total 5454 100.0
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n2 3
Frequency | Percent | Valid Percent | Cumulative Percent
.00 31 .6 .6 .6
25 340 6.2 6.3 6.9
.50 1511 27.7 27.9 34.8
Valid .75 1484 27.2 27.4 62.2
1.00 1494 274 27.6 89.8
1.25 523 9.6 9.7 99.5
1.50 29 5 5 100.0
Total 5412 99.2 100.0
Missing | System 42 8
Total 5454 100.0
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Un sculpteur doué!

Enok est un jeune sculpteur originaire du nord de la Nouvelle-Calédonie, une ile de
l"océan Pacifique. Il essaie de vivre de son art a Nouméa, une ville au sud de ce pays. Mais le
jeune artiste a du mal a échapper a la misere.

Grace a des photographies des ceuvres d’art d’Enok que la directrice de I’école d’art avait
réalisées et largement diffusées, le musée de Nouméa venait de lui acheter Silence, une petite
sculpture réalisée lors de son arrivée en ville. Un masque en tamanou?, aux paupiéres clouées, a la
bouche serrée. Cette ceuvre d’art avait été choisie pour une exposition en Australie.

Enok n’avait pas su donner un prix, méme approximatif, et s’en était trouvé géné. Il avait
murmuré : « ¢a n’a pas de prix ». Les personnes de 1’administration qui contemplaient les photos
I’avaient longtemps regardé sans parler. Jusqu’au moment ou une petite femme avait murmuré :

- Vous avez raison. L’artiste offre au monde de la beauté recréée. Ca n’a pas de prix. Mais son
travail doit étre pay€ pour qu’il continue. Alors si c’est plus facile pour vous, parlez-nous de votre
travail.

Elle lui avait souri, ce qui 1’avait encouragé a parler. Rien qu’a elle.

- I’ai passé de longues heures a regarder le bois brut’. Dans ma téte, Silence s’est dessiné peu a
peu, ensuite j’ai laissé courir mon imagination, j’ai imprimé ma pensée sous 1’écorce et longtemps
apres, j’ai commencé a travailler, a étre joyeux, a avoir peur.

Avant de repartir, un homme lui avait proposé 150 000 francs pour 1’achat de 1’ceuvre et de ses

droits de reproduction. Il avait accepté, étonné devant I’énormité de la somme. Il avait signé un
papier... La petite femme s’était approchée de lui :
- Cette ceuvre est magique, pleine de sens. Je comprends ce qu’elle veut dire, son poids de
sacrifice. Promettez-moi de continuer quoi qu’il arrive. Et surtout, restez pur et exigeant. Je suis
de passage ici, je repars demain. Je travaille a Paris pour le compte du ministére de la Culture. Si
vous venez en France, n’hésitez pas a me contacter. Ce serait un honneur pour moi.

Depuis longtemps, il attendait qu’on lui parle ainsi. Il avait senti le respect et 1’admiration
dans la voix de cette petite femme. Ses encouragements a continuer I’avaient rassuré. ..

D’apreés Claudine JACQUES, L’Homme-lézard, HB éditions, collection « Textes d’ailleurs » 2002

1. doué : talentueux 2. tamanou : bois dur 3. bois brut : bois qui n’a subi aucun changement

I- Questions (12pts dont 0,5 pour la présentation)

1- Lisez le paratexte et le texte puis choisissez et recopiez la bonne réponse : 1,5 pt
a- Enok vit: e dans la Nouvelle-Calédonie e cn Australie e 3 Paris
b- Enok est un sculpteur qui : oréalise des photographies pour un musée
o dessine un tableau avec des pinceaux odonne une nouvelle forme a un bois dur
c- Le mot « Silence » désigne le titre : @ de I’exposition qui aura lieu en Australie
@ de I’ceuvre d’art créée par Enok @ du roman écrit par Claudine Jacques
2- a- Relevez dans le 1°" paragraphe, la phrase qui décrit la sculpture d’Enok. 0,5 pt
b- Quel rapport existe-t-il entre cette phrase et le titre de la sculpture? 0,5 pt
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3- Dans les lignes 5 a 17, le narrateur raconte 1’acte de vente de la sculpture d’Enok.

a_

b-
c-

Relevez, dans le début de ce passage, trois détails montrant I’incapacité du sculpteur
a préciser le prix de son ceuvre.

Comment réagit-il face au prix proposé ? Justifiez votre réponse en citant le texte.
Identifiez le personnage qui a aidé Enok.

4- Lisez le passage dans les lignes 5 a 17 puis dites si les affirmations suivantes sont vraies
ou fausses et justifiez votre réponse en citant le texte.

5- a-
b-
c_
6- a-
b-

Le prix élevé de la sculpture est fixé par Enok lui-méme.
La petite femme admire le travail des artistes en général et celui d’Enok en
particulier.

Relevez les groupes verbaux qui ont pour sujet « je » entre les lignes 12 et 14
présentant les étapes de la création d’une ceuvre d’art.

Quels différents sentiments 1’artiste ressent-il au cours de son travail ?

A la lumiére des réponses obtenues, choisissez deux adjectifs qui décrivent le travail
de D’artiste : difficile - dréle - rapide - créatif - monotone

Précisez le type de discours dominant des paroles rapportées dans ce texte. Quel en
est I’effet produit par sa fréquence ?

Justifiez I’emploi de I’impératif pour les verbes suivants : « promettez-moi » (1.19),
«restez » (1.19), « n’hésitez pas » (1.21).

7- A la lumiére de vos réponses précédentes, expliquez le titre du texte en présentant trois
qualités d’un artiste doué.

8- Choisissez et recopiez la bonne réponse. L’auteur a écrit ce texte pour :

informer uniquement sur le métier de sculpteur en Nouvelle-Calédonie et a Paris.
souligner I’importance de 1’encouragement des jeunes artistes par des adultes
expérimentés.

expliquer clairement les difficultés qui bloquent la création d’une ceuvre d’art.

II-Production écrite (8 points dont 0,5 pour la présentation)

Traitez au choix ’un des sujets suivants :

Sujet 1 : Pour célébrer la féte de fin d’année, votre école organise une journée culturelle.
Présentez les circonstances de cet événement

artistique, culturelle, écologique ...) a laquelle vous participez.
Justifiez votre choix par deux raisons développées illustrées d’exemples tirés de la vie quotidienne.

0,75 pt
0,75 pt

0,5 pt
1 pt

0,5 pt
0,5 pt

0,5 pt

1,5 pt

tout en choisissant 1’une des activités (sportive,

Sujet 2 : Un jour, vous avez eu l’occasion de visiter une exposition (de peinture, de livres, de

sculpture ....) ou de visiter un musée avec vos amis de classe. A votre retour, racontez a vos parents
le déroulement de cette journée, et décrivez ce que vous avez vu et découvert. Evoquez vos
impressions et vos sentiments.

Votre texte fera entre 18 a 25 lignes (avec +/-10%) pour les deux sujets, ce qui équivaut a 180-
250 mots dans une écriture moyenne.

Les Pertinence ou adéquation a la | Cohérence Utilisation correcte des Mise en page et
critéres situation et a la consigne outils de la langue lisibilité
Notes 2.5 points 2.5 points 2.5 points 0.5 point
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Eléments de réponses Note
1-a | Enok vit dans la Nouvelle-Calédonie. 0,5 pt
1-b | Enok est un sculpteur qui donne une nouvelle forme a un bois dur. 0,5 pt
1-¢ | Le mot « Silence » désigne le titre de I’ceuvre d’art créée par Enok. 0,5pt
-2 La phrase qui décrit la sculpture d’Enok est : « Un masque en tamanou, aux paupieres 0,5 pt

clouées, a la bouche serrée. » (1.3-4)

Cette phrase illustre le titre de la sculpture. Le « Silence » est présent directement a
2-b | travers la forme de la bouche fermée, serrée et indirectement dans le masque de bois et | 0,5 pt
les paupicres clouées, immobilisées.

Les trois détails sont :
- Enok n’avait pas su donner un prix (L.5) ;

3-a - gené (15); 0,25 pt x3
- Il avait murmuré (1.5-6)
Il ne s’attendait pas au prix / Il accepte de vendre 1’objet / 1l réagit avec étonnement. 0,25 pt
3-b | Lajustification : « Il avait accepté, étonné devant I’énormité de la somme. Il avait signé
un papier. » (1.16-17) 0,25 pt x2
C’est la petite femme qui a aidé Enok (elle travaille pour le compte du ministére de la
3-¢ \ . e, X 0,5 pt
culture a Paris et elle était présente a la rencontre des acheteurs.)
- Le prix ¢élevé de la sculpture est fixé par Enok lui-méme.
Faux : « Avant de repartir, un homme lui avait proposé 150 000 francs » (1.15-16)
- La petite femme admire le travail des artistes en général et celui d’Enok en 0,25 pt x2
particulier.
4 Vrai : « L’artiste offre au monde de la beauté recréée. » (1.8)
OU « Can’a pas de prix. » (1.8)
N.B. Si la justification ne correspond pas a la réponse, accordez la moitié de la note.
Si la réponse est correcte sans justification, accordez la moitié de la note. 0,25 pt x3
Si la réponse est incorrecte, ne lui accordez pas de point méme si la justification est
correcte.

Les groupes verbaux sont :

- «ai passé de longues heures a regarder le bois » (1.12)
5-a - «ai laissé courir mon imagination » (1.13) 0,25 ptx 4
- «ail imprimé ma pensée » (1.13)

- «ai commencé a travailler » (1.14)

Le jeune artiste éprouve des sentiments mélés : la joie et la peur. Il est heureux parce

>-b qu’il accomplit son projet et en méme temps il a peur de ne pas plaire au public. 0,25 pt x2
Les deux adjectifs sont :
5-¢ - Créatif 0,25 pt x2

- difficile

Le discours direct est le type de discours dominant. Il anime le récit, le rend plus vivant
6-a | etrenseigne le lecteur sur le caractere, les sentiments et les émotions des personnages. | 0,25 pt x2
Sa fréquence dans le texte permet de relancer la communication entre les personnages.

« permettez-moi » (1.19) : Priére
6-b | «restez » (1.19) : Conseil / recommandation 0,5 pt x3
«n’hésitez pas » (1.21) : Invitation / exhortation

Le titre « un sculpteur doué désigne un artiste dont le talent est remarquable et reconnu
7- par les autres. Il a I’imagination fertile, il est créatif. De plus, il est assidu, il est « pur »

: . .25 pt x4
et aussi « exigeant ». 0.25 pt x

L’auteur a écrit le texte pour souligner I’importance de I’encouragement des jeunes
artistes par des adultes expérimentés.

1 pt
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1 Est-il possible de parler de conflit de génération dans le domaine de I’entreprise ? Mon expérience de

la formation dans le domaine de la communication m’a donné a voir que c’est une réalité effective, et que
c’est une problématique qu’il y a lieu d’évoquer dans son contexte. Il est méme a mon avis nécessaire de
I’aborder, dans ’entreprise, parfois, de facon directe, tant elle peut handicaper la capacité du groupe de
2 b b
5  travail a fonctionner de facon harmonieuse. Ainsi, les salariés nouveaux qui viennent de rejoindre
I’entreprise rencontrent des salariés anciens dont certains sont sur le départ pour prendre leur retraite. On
peut ’imaginer, le clash! est inévitable [...].

On pourrait émettre plusieurs hypothéses sur les sources possibles du conflit de générations [...]. En
fait, a ’examen, il pourrait sembler que derriére le conflit de génération, il y a rivalité, compétition ou
10 conflit de pouvoir.

Les jeunes ont la rage de conquérir un espace professionnel qui a été occupé jusque-la par les anciens.
Ils ont peur de ne pas y arriver, d’étre maintenus a I’écart. D’oti une appréhension?, et parfois une attitude
provocatrice, ou, essayant de mettre en avant ce qui est leur privilége, a savoir connaissances actuelles,
créativité, souplesse, ils méprisent le savoir « dépassé » des anciens, leur rigidité... Ils disent par tous les

15 moyens, nous sommes la, nous existons [...].

De l’autre coté, les anciens voient les nouveaux comme des usurpateurs®, qui viennent leur spolier*
leurs priviléges, d’ou cette foison de préjugés négatifs, a tonalité moralisante : ils ne respectent rien, ils n’ont
pas de valeurs ; ou alors d’autres du type : ils ne connaissent rien a notre métier. Ils ont I’illusion que
’espace de I’entreprise leur appartient et que ces nouveaux n’ont pas de légitimité® pour ’intégrer [...].

20 Et pour les conséquences... ? Ce schéma décrit plus haut peut, on peut facilement I’entrevoir, créer
bien des crises : crise de communication, crises sociales... Ainsi, de part et d’autre, incapacité a se
comprendre, & se voir tel que 1’on est,... bonjour les quiproquos® et méme les conflits [...]. Heureusement il
y a des thérapeutiques !

Le leader a, sans en étre souvent conscient, beaucoup de ressources en main pour apporter des
25 réponses préventives ou correctives a ce genre de situations. En effet, les responsables de 1’entreprise ont
intérét a faire suivre au niveau de leur service de communication ou de leur service de GRH’ cette
problématique, en installant une véritable veille® dédiée a cette dimension du groupe de travail. Donc, au
moyen d’indicateurs spécifiques, qui permettront de mesurer régulicrement cet aspect de la vie de
I’entreprise, il s’agit d’apprécier la qualité de la communication entre nouveaux et anciens, pour réagir aux

30 crises naissantes a temps, et éviter qu’elles ne s’amplifient et qu’elles ne deviennent hors de contrdle [...].

La formation ou le coaching éduqueront les uns et les autres a des techniques de communication
qui permettent de dépasser les préjugés, les malentendus et qui permettent d’accepter la différence,
d’apprendre a parler le langage de l’autre et surtout, leur rappeler les vertus du dialogue, de la
concertation.

Publié le 27 mars 2010 par communicationprofessionnelle.over-blog.com

http://communicationprofessionnelle.over-blog.com/article-le-conflit-de-generations-dans-le-monde-du-travail-
47520115.htm]

1-clash: rupture, désaccord violent 2- appréhension: inquiétude  3- usurpateurs: qui cherchent a posséder un poste qui ne leur
appartient pas 4- spolier: voler, déposséder quelqu’un de ses possessions 5- légitimité: caractére de ce qui est 1égitime, reconnu
parlaloi  6- quiproquos: malentendus  7-GRH: Gestion des Ressources Humaines, qui cherche a améliorer les performances
d’une entreprise 8- veille : surveillance continue exercée dans un domaine déterminé.

I-Questions (10 pts dont %2 pour la présentation matérielle)
1- En vous basant sur le texte et sa référence, choisissez et recopiez la bonne réponse : 1pt?

a. L’auteur anonyme de cet article est
- un chef d’entreprise ayant observé des difficultés de communication.
- un formateur dans le domaine de la communication.
- un jeune employé qui a des difficultés a s’intégrer.
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b. Dans son article, il traite la question
- des difficultés de communiquer entre les employés d’une méme entreprise.
- des critéres de recrutement au sein des entreprises.
- des lois qui régissent la gestion des entreprises.

¢. A travers ce texte, ’auteur vise a
- sensibiliser et inciter a agir efficacement en cas de crise de communication.
- défendre les jeunes souvent victimes de préjugés.
- dénoncer I’indifférence des chefs d’entreprise face a des problémes majeurs.

2- Dites si les affirmations suivantes sont vraies ou fausses et justifiez, quand c’est faux, en citant
le texte. 1pt!:

a. Lapeur de I’autre est un facteur primordial du déclenchement de la crise au sein de 1’entreprise.
b. Au sein de I’entreprise, les crises se résolvent, souvent, sans intervention extérieure.

c. Les malentendus ne nuisent pas a I’ambiance générale de I’entreprise.

d. Le dialogue est une technique qui s’apprend moyennant des formations appropriées.

3- a. Identifiez, dans ce texte, le terme le plus récurrent. Ya pt

b. Déterminez le champ lexical dominant dans les lignes 8 a 23 et relevez six termes et expressions 1pt
qui s’y rapportent.

c. A la lumiére des réponses obtenues en a et b, dégagez le théme du texte. V2 pt

4- L’auteur expose les rapports conflictuels entre les jeunes et les anciens employés

a. Que reprochent les jeunes employés aux anciens dans les lignes 11 a 15? Yapt
b. Relevez, dans les lignes 16 a 19, trois groupes verbaux dont le sujet «ils » renvoie aux

jeunes et reformulez les trois défauts que les anciens attribuent aux jeunes. 1 pt?.
c. Pour quelle raison, ces deux générations sont-elles donc en conflit ? Y pt

5- a. En quoi la formation aux techniques de communication est- elle la vraie solution ? Vous répondrez

en relevant, dans le dernier paragraphe, deux profits tirés de cette formation. 1pt

b. Pourquoi, a votre avis, les chefs d’entreprise ont-ils intérét a payer les services d’un spécialiste
en communication? V2 pt
¢. Le discours de I’auteur est crédible mais pas enti¢rement désintéressé. Montrez-le. V2 pt
II- Production écrite Traitez au choix I’un des sujets proposés. 6pts’s

Votre texte fera 25 — 40 lignes dans une écriture de taille moyenne (250 — 400 mots, +/- 10%)

Sujet 1: Selon Elisabeth Guigou, « les chefs d’entreprise doivent assumer des responsabilités sociales et
pas seulement économiques ».
Partagez-vous ce point de vue ?
Votre réponse prendra la forme d’un développement argumenté illustré d’exemples.

Sujet 2 : Vous faites partie d’un groupe d’employés qui ont été renvoyés de leur entreprise, suite a de
grandes difficultés financiéres. Racontez votre expérience douloureuse en décrivant vos réactions
et en exprimant vos sentiments.

Les critéres Les notes
Pertinence ou adéquation a la situation et a la consigne (2 pts)
Cohérence (2 pts)
Utilisation correcte des outils de la langue (2 pts)
Mise en page et lisibilité (% pt)
III- Buvre intégrale 3pts’s

Présentez le personnage principal "Angélique" et son parcours dans Le Réve de Zola.

| 165



Lalad) ¥4 VA alall 3 g0
YONA Gludad Y oY

Aaladl & 30N Balgl) clilaial
Slai®y) g plaia¥) :p b

laploTy dws,a)) dll) :dadsl) 33LL)

(Aladl anaill g Ay 11 3 ) 39
o A A A

Atan ) clilaia¥) 5 il

aa) Ao A Aall) Baba (8 Addlia
:aﬁj\ chalg sl o dlall
Partie
dela Corrigé Note
Q.
Eléments de réponse Criteére d’évaluation
Relevé de la bonne réponse Le candidat recopie la réponse
a. - un formateur dans le domaine de la correcte
L1 communication. V2 ptx3 15
) b. - des difficultés de communiquer entre les )
employés d’une méme entreprise.
c. - sensibiliser et inciter a agir efficacement en cas
de crise de communication.
Réponse aux affirmations et justification Le candidat répond par vrai ou
a. Vrai faux et,
1.2 b. Faux Y, pt x4
« Heureusement il y a des thérapeutiques ! » (L.22-23)
¢. Faux justifie quand c’est faux.
« elle peut handicaper la capacité du groupe de travail 7 ptx2
a fonctionner de fagon harmonieuse ». (L.4-5) 1.5
ou« le clash est inévitable » (1.7)
ou « bonjour les quiproquos et méme les
conflits »(L.22)
d. Vrai
Relevé du terme le plus récurrent: Le candidat reléve le mot le plus
L3.a || Entreprise(x6) (L.1, 4, 6,19, 25,29) récurrent. i pt 0.25
1.3.p || Identification du champ lexical dominant : Le candidat identifie le champ
Le conflit lexical dominant et
Relevé de 6 termes : Vi pt
« conflit de générations »(x2) (L.8-9) en reléve 6 termes et expressions.
« rivalité-compétition » (L.9)-« conflit de pouvoir »(L.10) Ya pt 1
« attitude provocatrice » (L.12-13) — % pour 6
« préjugés négatifs »(L.17)-« crises » (L.21) « crise de Y2 pour 5/4
communication »-« crises sociales » (L.21)-« incapacités a se /s pour 3/2
comprendre » (L.21-22) « quiproquo » —« conflits »(L.22)
L3.c Identification du théme du texte Le candidat identifie le théme du
- Le conflit dans I’entreprise/(le conflit de générations dans | texte. 0.5
I’entreprise). apt
I.4.a || Formulation des reproches
Les jeunes salariés reprochent a leurs ainés, leurs | Le candidat formule les
connaissances désuétes (savoir « dépasséy), sans rapport | reproches. 0.75
avec les connaissances actuelles, leur manque de Yax3
créativité et de souplesse.
Relevé des trois groupes verbaux Le candidat reléve les groupes
« ne respectent rien », (L.17) « n’ont pas de valeurs » verbaux et
« ne connaissent rien » (1.18) Yapt x3
Reformulation des trois défauts reformule les 3 défauts
I.4.b || Les anciens accusent les jeunes d’insolence, de 1.5
désinvolture, d’irrespect des principes de I’éthique (des Vapt x3
valeurs), d’ignorance du métier qu’ils prétendent
conquérir (de manque d’expérience, de manque de
connaissances pratiques du métier).
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I4.c

Précision de la raison du conflit
Les deux générations ont un probléme de
communication majeur. Ce conflit de générations laisse
supposer une lutte sans pitié, acharnée, une guerre de
territoire sans merci ou les vieux sont menacés par
P’attitude envahissante des jeunes qui cherchent a
leur soustraire le pouvoir dont ils jouissent.

Le candidat précise la raison du
conflit

2 pt

0.5

1.5.a

Explication de I’utilité de la formation et précision des
profits tirés

La formation aux techniques de communication est la plus
efficace car elle s’adresse a tous les partis impliqués dans
le conflit notamment les jeunes employés et les anciens.
Cette formation permet aux employés : « de dépasser les
préjugés »(L.32)

« d’accepter la différence » (L.32), « d’apprendre a parler
le langage de I’autre » (L.33), « de rappeler les vertus du
dialogue, de la concertation » (L.33-34).

Le candidat explique I’utilité de
la formation et

¥ pt
reléve deux profits

V2 pt

L5.b

Précision de la cause du recours des chefs d’entreprise
aux services d’un spécialiste en communication
- Améliorer la qualité de communication au sein de
I’entreprise.
- Assurer un climat de travail propice a la productivité.
- Eviter les conflits et les crises qui gaspillent le temps
et I’énergie.
- Diminuer le taux d’absentéisme et de maladies de
travail liées au stress...

Le candidat précise la cause du
recours aux services d’un
spécialiste

Ya x2

0.5

L.5.c

Crédibilité du discours de I’auteur

Le locuteur se présente comme un conseiller dans le
domaine de la communication professionnelle, ayant une
expérience certifiée comme formateur aux techniques
de communication : son statut professionnel est évoqué,
au début du texte, a travers I’emploi de I’expression « Mon
expérience de la formation dans le domaine de la
communication » (L.1-2).

Action qu’il accomplit dans son propre intérét
Cependant, en proposant les solutions, il souligne celle qui
correspond a ses propres compétences professionnelles, ce
qui constitue un moyen de promouvoir son expertise dans le
domaine, aupres des personnes concernées.

Le candidat démontre la
crédibilité et le manque de
désintérét

Ya pt x2

0.5
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Dans le roman d'Amin Maalouf « Les Désorientésy, Adam, le personnage principal, est installé a Paris depuis des années. Il se
rend dans son pays ou il rencontre ses anciens amis suite a la mort de l'un d'eux. Dans cet extrait, il leur explique les raisons de
son départ et de son installation a I’étranger.

1

10

15

20

25

Tout homme a le droit de partir, c'est son pays qui doit le persuader de rester - quoi qu'en disent les
politiques grandiloquents'. « Ne te demande pas ce que ton pays peut faire pour toi, demande-toi ce que
tu peux faire pour ton pays»”. Facile a dire quand tu es milliardaire, et que tu viens d'étre élu, a quarante-
trois ans, président des Etats-Unis d'Amérique ! Mais lorsque, dans ton pays, tu ne peux ni travailler, ni te
soigner, ni te loger, ni t'instruire, ni voter librement, ni exprimer ton opinion, ni méme circuler dans les
rues a ta guise, que vaut l'adage’ de John F. Kennedy ? Pas grand-chose !

C'est d'abord a ton pays de tenir, envers toi, un certain nombre d'engagements. Que tu y sois
considéré comme un citoyen a part entiére, que tu n'y subisses ni oppression, ni discrimination, ni
privations indues. Ton pays et ses dirigeants ont l'obligation de t'assurer cela ; sinon, tu ne leur dois rien.
Ni attachement au sol ni salut au drapeau. Le pays ou tu peux vivre la téte haute, tu lui donnes tout, tu lui
sacrifies tout, méme ta propre vie ; celui ou tu dois vivre la téte basse, tu ne lui donnes rien. Qu'il s'agisse
de ton pays d'accueil ou de ton pays d'origine. La magnanimité* appelle la magnanimité, l'indifférence
appelle l'indifférence, et le mépris appelle le mépris. Telle est la charte des étres libres et, pour ma part, je
n'en reconnais aucune autre.

C'est donc moi qui suis parti, de mon plein gré ou presque. Mais je n'avais pas tort en disant a
Mourad que le pays était parti, lui aussi, beaucoup plus loin que moi. A Paris, je ne suis, aprés tout, qu'a
cinq heures d'avion de ma ville natale. Ce que j'ai fait avant-hier, j'aurais pu le faire n'importe quel jour
au cours des derniéres années : prendre, au matin, la décision de revenir au pays, et me retrouver ici le

soir méme. L'ancien appartement de ma grand-meére a longtemps été a ma disposition, je m'y serais
réinstallé, je n'en serais plus reparti. Ni le lendemain, ni le mois suivant, ni méme l'année suivante.

Pourquoi n'ai-je jamais sauté le pas ? Parce que le paysage de mon enfance s'est transformé ? Non,
ce n'est pas cela, pas du tout. Que le monde dhier s'estompe’ est dans l'ordre des choses. Que l'on
éprouve a son endroit une certaine nostalgie est également dans l'ordre des choses. De la disparition du
passé, on se console facilement ; c'est de la disparition de I'avenir qu'on ne se remet pas. Le pays dont
I'absence m'attriste et m'obsede, ce n'est pas celui que j'ai connu dans ma jeunesse, c'est celui dont j'ai
révé, et qui n'a jamais pu voir le jour.

Amin MAALOUF, Les Désorientes. Grasset, 2012

1- grandiloquents: qui abusent des procédés de paroles vides de sens.  2- extrait du discours inaugural de John. F.
Kennedy, prononcé a I'occasion de son élection a la présidence des USA. 3- adage: maxime ancienne et populaire.
4- magnanimité: générosité. 5- s'estompe: devient flou, s’efface progressivement.

I-_Questions (10 pts dont '; pour la présentation matérielle)

1- En vous basant sur le texte, son chapeau, et sa référence, choisissez et recopiez la bonne réponse. 1pt’s

a- Dans ce roman d’Amin Maalouf, Adam est un libanais
- qui a quitté temporairement son pays d’origine.

- qui a construit définitivement sa vie a I'étranger.

- qui vit a Paris et qui a hate de retourner au Liban.

b- Dans son discours, Adam s'adresse directement

- aux politiciens qui ont bafoué les droits des citoyens.

- a ses amis libanais qui le blament d'avoir émigré définitivement.
- a des Parisiens qui I'ont soutenu dans son pays d'accueil.
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¢- Dans cet extrait, Adam

- fait I'¢loge de son pays natal.

- dresse la charte des droits de I'homme.
- justifie sa rupture avec son pays.

2- Recopiez et reliez chaque proposition au paragraphe qui lui correspond dans le texte.

L'engagement des citoyens envers un pays dépend des
opportunités qu'il leur offre.

La décision de ne pas retourner au pays natal dépend moins des
souvenirs que du réve brisé.

Les conditions de vie misérables et les droits bafoués portent le
citoyen a s'éloigner de son pays.

La décision de ne pas retourner au pays natal n'est liée ni a la
distance ni aux commodités du logement.

1ptls
1* paragraphe

2° paragraphe

3° paragraphe

4° paragraphe

3- a. En vous basant sur les phrases interrogative et exclamative présentes dans le premier paragraphe,

déterminez la prise de position d'’Adam face a I'adage de Kennedy. Ya pt
b. Quel est le réle de laphrase qui ouvre le texte? Reformulez-la. ¥a pt
4- a. Relevez, dans les deux premiers paragraphes, les termes et expressions qui explicitent et
développent respectivement le sens de « vivre la téte haute » (L.10) et « vivre la téte basse » (L.11). 1pt
b. Relevez et identifiez la figure de style présente dans les lignes 12 et 13. Y2 pt
c¢. Partant des réponses obtenues en a. et b, dites quel rapport le locuteur veut établir entre le pays et ses
citoyens. Yapt
5- a. Justifiez le recours au pronom « je» dans les deux derniers paragraphes. Y2 pt
b. Apres avoir relevé le lexique affectif et les structures négatives présents dans le dernier paragraphe,
précisez la raison qu'Adam donne pour justifier son départ définitif. 1pt’2
6- A lalumiére de tout ce qui précéde, expliquez le titre du roman, « Les Désorientés. Ya pt
II- Production écrite 6 pts %2

Traitez au choix I’un des sujets proposés.
Votre texte fera 25 - 40 lignes dans une écriture de taille moyenne. (250 - 400 mots, +/- 10%)

Sujet 1 : Quitter définitivement son pays natal parce qu'il n'assure pas a ses citoyens liberté et justice vous

semble-t-il un acte irresponsable et lache?

Quelle que soit votre réponse, vous la présenterez dans un développement argumenté illustré d’exemples.

Sujet 2 : Dix ans plus tard, Adam rentre au Liban. il raconte, a ses amis surpris de son retour, ce qui I'a poussé

a revenir sur sa décision qu'il disait définitive. Rédigez, a la 1 personne, le récit d'Adam.
Les critéres Les notes
Pertinence ou adéquation a la situation et & la consigne (2 pts)
Cohérence et cohésion (2 pts)
Correction de la langue (2 pts)
Mise en page et lisibilité (%2 pt)

I1I- Euvre Intégrale:

Présentez le personnage principal "Meursault" et son parcours dans L'Etranger de Camus.
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Partie
. Note
dela Corrigé X
Ipts 72
Q.
Eléments de réponse Critéres
d’évaluation
Choix de la bonne réponse Le candidat
a- Dans ce roman d’Amin Maalouf, Adam est recopie la bonne
L1 un libanais qui a construit définitivement sa vie a l'étranger. réponse. 15
. ) .
b- Dans son discours, Adam s'adresse directement Aptxd
a ses amis libanais qui le blament d'avoir émigré définitivement.
¢- Dans cet extrait, Adam
justifie sa rupture avec son pays.
Association du § a la proposition convenable Le candidat relie
L'engagement envers un pays dépend des opportunités qu'il offre a ses citoyens—>|convenablement la
2°§ proposition au §
La décision de ne pas retourner au pays dépend moins des souvenirs que du réve|correspondant.
1.2 - ¢ 1 1.5
brisé. > 4°§ a
Les conditions de vie misérables et les droits bafoués portent le citoyen a :/2
s'éloigner de son pays. 2 17 § ;’
La décision de ne pas retourner au pays natal n'est li¢ ni a la distance ni aux ‘
commodités du logement. = 3° §
Prise de position d'Adam Le candidat détermine
la prise de position.
A travers la phrase interrogative "Mais lorsque, dans ton pays, tu ne peux ni
travailler, ni te soigner, ni te loger, ni t'instruire, ni voter librement, ni
exprimer ton opinion, ni méme circuler dans les rues a ta guise, que vaut
L3.a l'adage® de John F. Kennedy ? " (L.6) et la phrase exclamative elliptique % pt 0.75
"Pas grand-chose!" (L.6), Adam exprime son refus d'adhérer a la thése
soutenue par le président américain Kennedy, dans sa célébre citation
et qui stipule que le citoyen doit étre généreux et désintéressé dans son
amour patriotique inconditionnel (sans attendre ni profit ni gain en
échange de cet amour).
Réle de la premiére phrase Le candidat précise
La phrase qui ouvre le texte constitue la thése du locuteur. le role de la premiére
1.3.b. phrase et,
Sa reformulation Vipt 0.75
La décision de rester dans son pays dépend des opportunités et des droits | la reformule.
fondamentaux que ce dernier offre a ses citoyens. vipt
Termes et expressions qui explicitent et développent le sens des deux expressions
L4.a. Vivre la téte haute Vivre la téte basse
citoyen a part entiére (L.8), ni travailler (L.4), Le candidat reléve
ni oppression (L.38), ni te soigner (L.4-5) le lexique qui 1
ni discrimination (L.8), ni te loger (L.5) explicite et
ni privations indues (L.8-9). | ni t’instruire (L.5) développe le sens
ni voter librement (L.5), des deux
ni exprimer ton opinion (L.5), expressions.
ni ... circuler dans les rues a ta guise 72 pour 4/3 x2
(L.5-6) Ya pour 2 x2
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Relevé et identification de la figure de style Le candidat
o o reléve et,
"La magnanimité appelle la magnanimité, v pt 0.5
l'indifférence  appelle l'indifférence,
L4.b. et le mépris appelle le mépris." identifie la figure
11 s'agit d'un parallélisme de construction. de style.
Y pt
Précision du rapport que le locuteur veut établir entre le pays et les Le candidat
citoyens précise le rapport.
Le locuteur établit un rapport de réciprocité entre le pays et ses citoyens. % pt
Le pays doit offrir, généreusement, aux citoyens une vie digne, ou régnent 0.75
la liberté, 1'égalité et la justice et ou les droits au travail, aux soins
médicaux, au logement, a I'éducation, a la liberté et a la parole, sont
Ld.c. respectés. En contrepartie et en échange du bon traitement qu'ils recoivent,
les citoyens restent attachés a leur pays et lui rendent son dd.
(Le cas échéant, le citoyen se trouve libéré de toute obligation envers son
pays notamment l'attachement a son sol)
Justification du recours au pronom "je" Le candidat justifie
L3.a. Le pronom personnel "je" référe a Adam, 1'énonciateur, qui raconte sa | le recours au "je".
propre expérience. C'est le témoignage d'un émigré qui se veut porte- Vax2
parole de tous ceux qui vivent la méme situation conflictuelle que Iui et 0.5
qui se demandent s'il faudrait retourner dans leur pays d'origine ou rester a
['étranger.
Relevé du lexique affectif et des structures négatives dans le dernier § |Le candidat
reléve le lexique
Le lexique affectif: affectif et les
éprouve (L.23), nostalgie (L.23), console (L.24), m’attriste (L.25),|structures négatives,
LS.b. | obsede (L.25) % pour 4/3
Y. pour 2
Les structures négatives:
, 1.5
n'ai-je jamais sauté le pas? (L.21) /f pour 4/3
Non, ce n’est pas cela (L.21-22), /4 pour 2
pas du tout (L.22),
on ne se remet p as (L',24? et précise la raison
ce n’est pas celui que j’ai connu (L.25)
e . C0 que le locuteur
qui n’a jamais pu voir le jour (L.26) avance.
Précision de la raison qu'Adam donne pour justifier son départ définitif YVapt
Le locuteur éprouve, comme tous les émigrés éloignés de leur pays, ce
sentiment de nostalgie envers son enfance, son passé et sa terre natale; il
sombre dans le pessimisme et le désespoir parce que le pays de son réve
ne s'est jamais concrétisé, n'a jamais existé (n'a jamais vu le jour).
Explication du titre du roman, « Les Désorientésy. Le candidat explique
Les Désorientés, titre du roman d’ Amin Maalouf, désigne les émigrés, les [le titre du roman.
déracinés qui sont égarés et qui sont en quéte de leur identité perdue Yopt +Vipt
Le. entre le pays d'accueil et le pays natal. 0.75
Ou
Ceux qui ont perdu leur Orient et qui ont vécu a 1’étranger ou en
Occident.
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Hélie de Saint Marc (1922-2013), est un ancien officier de I'armée francaise. Il a connu une vie extrémement difficile: la
Résistance a dix-neuf ans, I'exil, ’aventure et le chagrin en Indochine, I’engagement et la révolte en Algérie, la prison et le
silence. Son ceuvre est malgré tout un témoignage d’espoir sur I’aventure humaine. Au soir de sa vie, il est devenu une

référence morale et historique pour les jeunes.

10

15

20

25

Quand on a connu tout et le contraire de tout, quand on a beaucoup vécu et qu'on est au soir de sa
vie, on est tenté de ne rien lui dire. [...] Pourtant, je ne veux pas me dérober, et a mon jeune
interlocuteur, je dirai donc que nous vivons une période difficile ou les bases de ce qu’on appelait la
Morale et qu’on appelle aujourd’hui I’Ethique, sont remises constamment en cause, en particulier dans
les domaines du don de la vie, de la manipulation de la vie, de [Dinterruption de la vie. Dans ces
domaines, de terribles questions nous attendent dans les décennies a venir. Oui, nous vivons une
période difficile ou I’individualisme systématique, le profit a n’importe quel prix, le matérialisme,
I’emportent sur les forces de I’esprit. Oui, nous vivons une période difficile ou il est toujours question
de droit et jamais de devoir et ou la responsabilité tend a étre occultée’.

Mais je dirai @ mon jeune interlocuteur que malgré tout cela, il faut croire a la grandeur de
I’aventure humaine. Il faut savoir, jusqu’au dernier jour, jusqu’a la derniére heure, rouler son propre
rocher”. La vie est un combat, le métier d’homme est un rude métier. Ceux qui vivent sont ceux qui se
battent. Il faut savoir que rien n’est slr, que rien n’est facile, que rien n’est donné,
que rien n’est gratuit. Tout se conquiert’, tout se mérite. Si rien n’est sacrifié, rien n’est obtenu.

Je dirai a mon jeune interlocuteur que pour ma trés modeste part, je crois que la vie est un don de
Dieu et qu’il faut savoir découvrir au-dela de ce qui apparait comme 1’absurdit¢ du monde, une
signification a notre existence.

Je lui dirai qu’il faut savoir trouver a travers les difficultés et les épreuves, cette générosité,
cette noblesse, cette miraculeuse et mystéricuse beauté éparse a travers le monde, qu’il faut savoir
découvrir ces étoiles, qui nous guident ou nous sommes plongés au plus profond de la nuit
et le tremblement sacré des choses invisibles.

Je lui dirai que tout homme est une exception, qu’il a sa propre dignité* et qu’il faut savoir
respecter cette dignité. Je lui dirai qu’envers et contre tous il faut croire a son pays et en son avenir.

Enfin, je lui dirai que de toutes les vertus, la plus importante, parce qu’elle est la motrice de toutes
les autres et qu’elle est nécessaire a 1’exercice des autres, de toutes les vertus, la plus importante me
parait étre le courage, les courages, et surtout celui dont on ne parle pas et qui consiste a étre fidéle a
ses réves de jeunesse. Et pratiquer ce courage, ces courages, c¢’est peut-étre cela «L’Honneur de
Vivrey.

Hélie de Saint-Marc, « Que dire a un jeune de 20 ans? »

1-occultée: cachée 2- rouler son propre rocher: au sens figuré, étre condamné a un travail pénible et indéfiniment
recommencé  3-se conquiert: se prend par la force, se gagne  4-dignité: grandeur, noblesse.

I-Questions 12 pts dont 5 pour la présentation matérielle

1-

En vous appuyant sur le texte et son chapeau, choisissez et recopiez la bonne réponse. 2pts
a. Hélie de Saint-Marc est
- un soldat qui relate, dans ce texte, ses mémoires de guerre.
- un aventurier qui fait, dans ce texte, 1'éloge de la vie qu'il a menée.
- un homme agé et expérimenté qui développe, dans ce texte, une legon de vie.
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b. Il s'adresse
- asapropre génération.
- aux jeunes adultes.
- atoutes les catégories d'age.

¢. Selon lui, il est essentiel
- de combattre pour ses idéaux et ses réves.
- de se résigner aux difficultés de la vie.
d'adopter une attitude individualiste et matérialiste.

d. L'auteur est une autorité digne de confiance parce qu'il a
- lu beaucoup d'ouvrages qui ont enrichi sa culture.
- entrepris un grand nombre de voyages dont il a gardé des souvenirs.
- surmonté des épreuves multiples dont il a tiré des enseignements.

2- Remettez dans l'ordre les propositions suivantes en respectant la progression du texte:
a. Etre homme n'est pas chose facile, mais exige une lutte continue.
b. L'espoir peut émerger du fond des ténébres.
c. L'époque moderne suscite des inqui¢tudes d'ordre éthique dans plusieurs domaines.
d. Lavien'est pas dénuée de sens, malgré les apparences parfois trompeuses.
3- a. Relevez, dans le premier paragraphe, les termes et expressions a sens négatif.
b. Partant du relevé obtenu en (a), reformulez le constat qui ouvre le texte.
4 a. Relevez, dans le deuxieme paragraphe, les termes et expressions qui reprennent et
développent le sens de « la vie est un combat ».
b. Identifiez une figure de style qui cloture ce méme paragraphe et justifiez son emploi.
5- a. Dans les lignes 15 a 23, relevez un verbe modalisateur récurrent et donnez sa valeur.
b. Relevez, dans ce méme passage, trois groupes verbaux a l'infinitif introduits par ce
modalisateur.
c¢. Reformulez la recommandation qui vous semble la plus importante parmi celles
véhiculées par ces groupes verbaux et justifiez votre choix.
6- a. Dans le dernier paragraphe, relevez le superlatif répété et précisez la vertu qu'il met en relief.
b. Expliquez I'importance que le locuteur accorde a cette vertu.
7- a. Comment l'auteur définit-il « L'Honneur de Vivre »?
b. Etes-vous d'accord avec cette définition? Pourquoi?
8- Dans quelle mesure Saint-Marc s'affirme-t-il, dans ce texte, comme un auteur engagé?
I1- Production écrite Traitez au choix I’un des sujets proposés.

Votre texte fera 25 - 40 lignes dans une écriture de taille moyenne (250 - 400 mots, +/- 10%)

Sujet 1: Selon Hélie de Saint-Marc, «nous vivons une période difficile ou il est toujours

question de droit et jamais de devoir et ou la responsabilité tend a étre occultée.»
Cette méme accusation est souvent portée contre les jeunes. Dans quelle mesure
vous semble- t-elle bien fondée?

Votre réponse prendra la forme d’un développement argumenté illustré d’exemples.

Sujet2: Votre grand-pere, agé de 70 ans, vous raconte un réve de jeunesse auquel il tenait

beaucoup et qu'il a réussi a réaliser malgré des épreuves difficiles.
Rapportez, a la premiére personne, le récit de votre grand-pére dans lequel il insiste
sur les sacrifices qu'il a faits et les facteurs qui ont contribué a sa réussite.

17 pt

Ya pt
Ya pt

Yapt

Yapt
2 pt
2 pt

1pt

¥ pt
Y pt

2 pt
¥ pt

1pt

(8pts)

Les critéres Les notes
Pertinence ou adéquation a la situation et a la consigne (2 pts )
Cohérence (2 pts )
Utilisation correcte des outils de la langue Q2 pts %)
Mise en page et lisibilité (% pt)
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Partie Note
de la Q.
Eléments de réponse Criteéres
d’évaluation
Choix de la bonne réponse Le candidat
L1 a. Hélie de Saint-Marc est choisit
- un homme 4gé et expérimenté qui développe, dans ce texte, une | la bonne réponse.
lecon de vie.
b. 1l s'adresse
- aux jeunes adultes. % ptxd 2
c. Selon lui, il est essentiel
- de combattre pour ses idéaux et ses réves.
d. L'auteur est une autorité digne de confiance parce qu'il a
- surmonté des épreuves multiples dont il a tiré des enseignements.
L.2. Propositions remises en ordre en respectant la progression du texte Le candidat
remet les
c-a-d-b propositions en | 1.5
respectant la
progression du
texte
(retrancher % pt
par classement
erroné).
L.3.a. | Relevé des termes et expressions a sens négatif Le candidat
«période difficile» (L.3-7-8), «manipulation de la vie» (L.5), «interruption de | reléve les termes
la vien(L.5), «terribles questions» (L.6), « individualisme systématique » (L.7), | ¢t expressions a
«profit a n’importe quel prix » (L.7), « matérialisme » (L.7), «jamais de sens}/ile%':llt;f7.m 0.75
devoir » (L.9), « responsabilité... occultée » (L.9) v gour 5/4
Y4 pour3/2
I.3.b. | Reformulation du constat: Le candidat
Loin d’&tre facile, la vie a I’époque actuelle est marquée par I’irrespect des | reformule le
valeurs humaines. L’éthique est remise en question et le matérialisme | constat.
prédomine parce que les gens deviennent de plus en plus individualistes, 3de? 0.75
arrivistes, irresponsables, agissant avec légereté devant ’accomplissement % pt
des devoirs.
I.4.a. Relevé des termes et expressions qui reprennent et développent le sens de | Le candidat
«la vie est un combat » releve
« rouler son propre rocher » (L.11-12), «rude métier » (L.12), « se battent » les termes et 0.75
(L.12-13), « rien n’est str » (L.13), « rien n’est facile » (L.13), « rien n’est expressions  qui
donné » (L.13), « rien n’est gratuit » (L.14), « tout se conquiert » (L.14). reprennent et
développent le
sens de « la vie
est un combat ».
% pour 7/6
% pour 5/4
Y pour 3/2
L.4.b Identification de la figure de style et précision de sa valeur Le candidat
« Si rien n’est sacrifié, identifie la figure | 0.75
rien n’est obtenu. » (L.14) de style,
11 s'agit d'un parallélisme de construction / d'une opposition qui souligne Y pt
l'importance des sacrifices a faire pour obtenir ce que 1'on veut dans la vie:
L1z s . . et donne sa
ce procédé met en exergue l'aspect inévitable du combat a4 mener afin de valeur
mériter la vie/ d'étre digne de la vie. ' ¥ pt
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L5.a. Identification d'un verbe modalisateur récurrent Le candidat
«il faut» (x5) (L.16-18-19-22-23) identifie un
verbe
Valeur de son emploi modalisateur 0.5
Ce verbe modalisateur exprime une obligation. recurre?/: ot
et donne sa
valeur d'emploi.
Y4 pt
L5.b. Relevé des trois groupes infinitifs Le candidat
- «savoir découvrir au-dela de ce qui apparait comme 1’absurdité du monde, une | releve trois
signification a notre existence » (L.16-17) groupes
- «savoir trouver a travers les difficultés et les épreuves, cette générosité, | infinitifs.
cette noblesse, cette miraculeuse et mystérieuse beauté éparse a travers le 0.5
monde » (L.18-19) :
- «savoir découvrir ces étoiles, qui nous guident ou nous sommes plongés au 1 pour 3/2
plus profond de la nuit et le tremblement sacré des choses invisibles » (L. 19- 1% pour 1
20-21)
- «savoir respecter cette dignité » (L.22-23)
- « croire a son pays et en son avenir » (L. 23)
L5.c. Reformulation de la recommandation qui semble la plus importante et | Le candidat
justification du choix reformule la
Le locuteur recommande aux jeunes: TGQOm{nandation
- daccorder un sens a l'existence qui nous parait incompréhensible et | qui lui semble la
inexplicable par la raison (dépourvue de sens). plus importante
- de surmonter les obstacles rencontrés dans la vie afin de savourer son charme 1 pt 1
mystérieux et magique, d'apprécier les dons qu'elle nous offre généreusement. et justifie son
- de garder l'espoir malgré les ténebres et valoriser les choses invisibles qui | .poix.
valent la peine d’étre découvertes. 1% pt
- de reconnaitre I’entit¢ de chacun, qui n’est identique a personne/ reconnaitre la | (justification libre
grandeur et la noblesse de tout homme. mais pertinente)
- avoir un sentiment d'appartenance a son pays et croire en un futur prometteur.
1.6.a Relevé du superlatif répété et précision de la vertu qu'il met en relief Le candidat
« la plus importante » (L.24-25) releve le
L'auteur insiste sur le courage qu'il considére comme valeur ultime. superlalt/if ffpété 0.5
ip
et précise la vertu
mise en relief.
Ya pt
L.6.b Importance accordée a cette vertu Le candidat
Saint Marc accorde de l'importance au «courage» parce que surmonter les difficultés explique 0.5
est une affaire de courage, la plus grande vertu qui est a la base de toutes les 1'imP0rFar{C€
autres/ le moteur qui permet a I'individu de mettre en pratique toutes les accordée a cette
autres valeurs. vertu.
Y5 pt
L7.a. Définition de I'Honneur de Vivre Le candidat
« I'Honneur de Vivre » consiste, selon l'auteur, a défendre les idéaux, ne pas | donne la
renoncer 2 ses aspirations (ambitions), 4 ne pas céder aux découragements | définition de 0.5
devant les défis de la vie. « l'Hgnneur de
Vivre ».
Y4 pt x2
L.7.b. Opinion de l'apprenant quant a la définition donnée a « 1'Honneur de | Le candidat
Vivre » donne son avis en
Oui: car agir courageusement nous garantit une vie honorable et nous vaut la | tenant compte de 0.5
considération et l'estime des autres. la reponse
Non: car « I'Honneur de Vivre » consiste a faire des sacrifices pour son pays/sa preced?me'
famille/a sauvegarder sa dignité/ gagner sa vie honnétement... (Réponse libre % pt
mais pertinente)
L8. L'engagement de Saint-Marc a travers son discours Le candidat
précise dans
- Enraciné dans son époque et conscient des problémes d'éthique | quelle mesure
vécus par ses contemporains, il dénonce la décadence morale de la | Saint-Marc 1
SOCiété. s'affirme dans ce
- Soucieux de l'intérét des jeunes, il leur communique la somme de texte, comme un
. - . auteur engage.
ses multiples expériences en vue de leur inculquer les valeurs % ptx 2
essentielles, gages d'une vie honorable, et d'établir des régles de
conduite qui les méneront a s'accomplir et a réaliser leurs réves.
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Domains: Reading and Writing Competencies:
Reading: Develop literal and interpretive comprehension of written discourse (12 pts.)

- Writing: Produce transactional writing (8 pts.)
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4105 |058%| 0.26 | 0.50 [0.50|0.25 | -0.10 0.01 0.00 | 0.50 | 0.50 | 94.9 % |47.34 % | 52.46 %
§ 1 2 |7.86%| 0.98 | 1.00 |1.00| 0.48 | -0.19 0.02 | 0.50 | 1.00 | 1.25 | 48.7% | 3.70 % | 1.09 %
%/D 2 2.5 |443 %| 1.18 | 1.25 | 1.50| 0.56 | -0.35 0.02 | 0.75 | 1.25 | 1.50 | 47.8 % | 4.62 % | 0.03 %
}g 3 2.5 |4.43 %| 1.03 | 1.00 |1.00| 0.55 | -0.05 0.02 | 0.50 | 1.00 | 1.50 | 53.0% | 5.21 % | 0.01 %
= 4 1 [4.02%| 049 | 0.50 |0.50| 0.24 | 0.19 0.02 | 0.25 | 0.50 | 0.50 | 49.4% | 5.86 % | 7.83 %
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(Reading Comprehension (12/20

g | g
s | S| g
g g & Questions
Al »
1 Poor countries are currently facing several problems such as: diseases, child labor, lack of clean water,
good hygiene, and lack of education.
A 2 |The company faced a problem which is lack of electricity in some areas.
3 |The author recommends that we should offer these children education, food, and medical care.
4 It (Par. 2) refers to software
It (Par. 4) refers to computer
1 |Distribute
2 |Persuade
B
3 |Lessen
4 |Improve
1 |Para. 2
C
2 |Para. 3

The percentage of schools that use technology increased in both countries. For example, in Finland it
increased 20% and in Tunisia it increased 10%.

A vegetarian can be defined as someone who does not eat meat, fish, or other animal products.

B 2 |If we don’t make changes in our lives soon, our lives will be very boring.
3 |Some Japanese universities are developing medical robots to detect certain kinds of cancer.
4 |I don’t know why did the United Nations announced this in 2005.
1 |D- than
2 |C- nevertheless
F
3 |C- come
4 |B- had not eaten

Writing (8/20)

Outline/chart and title

Ideas and organization

Language and style

Tidiness and legible handwriting
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Domains: Reading and Writing Competencies:

Reading: Develop literal and interpretive comprehension of written discourse )12 pts.(

- Writing: Produce transactional writing (8 pts.)
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Writing

B Reading Comprehension A Jlxt

Develop literal and interpretive .
Produce transactional writing: 8 p . P SLLsY
comprehension of written discourse: 12 B

Content Language | Tidiness & Literal Interpretive | Critical
Organization: | & Style: | Handwriting: dodsl| Jdis
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Cognitive Process
The Knowled
e‘ now'e 8 | 1.Remember | 2.Understand 3. Apply 4.Analyze 5.Evaluate 6. Create
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Factual
Conceptual
Procedural
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% of
cv Attained mark

Percentile

Domain
Section
Part

Full Mark (pts)
Missing %
Mean
Median
Mode
SD
Skewness
Std. Error of
Skewness

25 50 75 0 Full

,_.
—
e
)
S

0.62 | 0.75 |0.75]0.27 | -0.18

e
=)
Y

0.50 | 0.75 | 0.75 43.4 1.54 18.82

,_
N
)
=

0.43 | 0.50 |0.00| 0.35| 0.26 0.03 | 0.00 [ 0.50 | 0.75 83.2 28.15 | 15.17

A |3 1 7.36 | 0.27 | 0.25 |0.25] 0.23 | 0.91 0.03 | 0.00 | 0.25 | 0.50 87.5 28.54 2.05

1 4.35 | 0.23 | 0.25 [0.00| 0.23 | 0.76 0.03 | 0.00 [ 0.25 | 0.50 | 103.0 | 42.02 1.02

1 6.60 | 0.33 | 0.25 |0.00 | 0.37 | 0.72 0.03 | 0.00 | 0.25 | 0.50 | 113.8 | 45.71 | 15.63

1 1 4.67 | 0.79 | 1.00 |1.00| 0.31 | -1.32 | 0.03 | 0.50 | 1.00 | 1.00 39.0 7.56 61.47

B |2 1 7.64 | 046 | 0.50 [0.50| 0.34 | 0.14 0.03 | 0.25 | 0.50 | 0.75 73.9 23.37 | 15.74

3 1 0.20 | 0.62 | 0.75 |0.75| 0.27 | -0.18 | 0.03 | 0.50 | 0.75 | 0.75 43.4 1.54 18.82

Reading Comprehension (12/20)

C 1 8.07 | 0.16 | 0.00 [0.00|0.22 | 1.34 0.03 | 0.00 [ 0.00 | 0.25 | 137.6 | 57.46 0.91

D 1 539 | 035 | 025 [0.25]|0.26 | 0.36 0.03 | 0.25 | 0.25 | 0.50 72.8 20.36 2.24

1105073026 050 |050|0.25| -0.08 | 0.03 | 0.00 | 0.50 | 0.50 96.2 48.04 | 51.86

2105|065 045 | 0.50 |{0.50|0.15| -2.72 | 0.03 | 0.50 | 0.50 | 0.50 32.7 9.61 90.17

i 3105|076 | 033 050 [050]0.24| -0.64 | 0.03 | 0.00 | 0.50 | 0.50 72.8 34.61 | 65.29

4105|086 |0.32]| 050 |050]|0.24| -0.56 | 0.03 | 0.00 | 0.50 | 0.50 75.7 36.35 | 63.45

1025|179 | 020 | 0.25 |0.25|0.10 | -1.37 | 0.03 | 0.25 | 0.25 | 0.25 52.8 21.81 | 78.19

2 1025|174 | 0.13 | 0.25 [0.25]0.12 | -0.08 | 0.03 | 0.00 | 0.25 | 0.25 96.0 47.93 | 52.07

g 3 1025|205 | 0.18 | 025 [0.25]0.11 | -1.06 | 0.03 | 0.00 | 0.25 | 0.25 60.1 26.51 | 73.49

41025| 232 |0.19| 025 |025]|0.11| -1.23 0.03 | 0.25 | 0.25 | 0.25 55.9 23.81 | 76.19

§ 1 3.5 | 227|152 | 150 |1.50|0.69| -0.18 | 0.03 | 1.00 | 1.50 | 2.00 45.5 2.44 0.01
<

%" 2 3.5 | 240 | 1.30 | 1.25 |1.50 | 0.64 | 0.04 0.03 | 1.00 | 1.25 | 1.75 49.2 3.05 0.01

§ 3 1 2.35 | 048 | 0.50 | 0.50 | 0.20 | 0.26 0.03 | 0.25 | 0.50 | 0.50 42.1 2.76 3.95
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Domains: Reading and Writing Competencies:
Reading: Develop literal and interpretive comprehension of written discourse (12 pts.)

- Writing: Produce transactional writing (8 pts.)
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Domains: Reading and Writing Competencies:

Reading: Develop literal and interpretive comprehension of written discourse (12 pts.)

- Writing: Produce transactional writing (8 pts.)
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Cognitive Process/ knowledge
Dimension

Remember/
Knowledge

Understand/

Comprehension

Apply/
Application

Create/

Evaluate/
Synthesis

Create/
Evaluation

Factual:

Basic elements used to
communicate, understand,
organize a subject:
terminology, scientific terms,
labels, vocabulary, jargon,
symbols or representations;
and specific details such as
knowledge of events, people,
dates, sources of information.

Generate

Check

Select

Respond

Summarize

List

Conceptual:

Knowledge of classifications
and categories, principles,
theories, models or structures
of a subject.

Assemble

Determine

Differentiate

Provide

Classify

Recognize

Procedural:

Knowing how to do
something: performing skills,
algorithms, techniques or
methods.

Design

Judge

Integrate

Execute

Clarity

Recall

Metacognitive:

The process or strategy of
learning and thinking; an
awareness of one’s own
cognition, and the ability to
control, monitor, and regulate
one’s own cognitive process.

Create

Reflect

Deconstruct

Use

Predict

Identify
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COGNITIVE COMPETENCIES

2@)@7.16

Cognitive Processes and Strategies Knowledge Creativity
critical thinking | reasoning/ decision making |Information information and | oral and written | creativity (idea Innovation

— & problem argumentation literacy (research |communications |communication |generation)

W‘_J solving using evidence technology

w and recognizing |literacy

o bias in sources)

1)

% INTERPERSONAL COMPETENCIES

MW Teamwork and Collaboration Leadership

3 collaboration, teamwork, interpersonal conflict Leadership, self-presentation |social influence with others

D cooperation, & coordination skills resolution, responsibility,

w negotiation & assertive

0 communication

<):

= INTRAPERSONAL COMPETENCIES
Intellectual Openness Work Ethic/ Conscientiousness Positive Core Self-Evaluation
Flexibility & personal artistic and professionalism / | citizenship career orientation | physical and self-monitoring,
adaptability and social cultural ethics psychological self-evaluation,

responsibility appreciation health self-reinforcement
(including

cultural awareness
and competence

National Research Council 2012 g4 - (s
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Seven Strategies of Highly Effective Readers
Strategy Definition
Activating "Priming the cognitive pump" in order to recall relevant prior knowledge and
experiences from long-term memory in order to extract and construct meaning from
text
Inferring Bringing together what is spoken (written) in the text, what is un spoken (unwritten)

in the text, and what is already known by the reader in order to extract and construct
meaning from the text

Monitoring-Clarifying

Thinking about how and what one is reading, both during and after the act of reading,
for purposes of determining if one is comprehending the text combined with the ability
to clarify and fix up any mix-ups

Questioning

Engaging in learning dialogues with text (authors), peers, and teachers through self-
questioning, question generation, and question answering

Searching-Selecting

Searching a variety of sources in order to select appropriate information to answer
questions, define words and terms, clarify misunderstandings, solve problems, or
gather information

Summarizing Restating the meaning of text in one's own words--different words from those used in
the original text

Visualizing Graphic Constructing a mental image or graphic organizer for the purpose of extracting and

Organizer constructing meaning from the text
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Part One: Reading Comprehension (Score: 12/20)

Read the following text in which the author sheds light on the efforts made to solve the problems of poor
communities. When you are through with the reading, answer the questions that follow.

Laptops for the Hungry

1 One of the problems faced by many poor countries around the world is child labor. Children who are
supposed to be getting good education are out of school working because there is no other way for their
families to earn enough money in order to meet their needs. The working hours are often very long- 10
or 12 hours a day. For instance, many young children in Bangladesh work under difficult and terrible
conditions all day long, breaking old bricks in extremely hot weather. Another widespread problem is
that over a billion people worldwide still don't have access to clean water and good hygiene. To help
children in poor countries, a goal was set to provide every child with a laptop.

2 A company has designed a very simple laptop that is powered by a wind-up mechanism so that it can be
used in areas which don't yet have electricity. Assuming that at least 100 million laptops could be ordered,
the final price tag would be no more than 100 dollars. The plan for governments and charities is to buy
these laptops and distribute them to children in the poorest areas of the world. It is not yet clear what kind
of software will be installed on the laptops, but it will surely include one or two educational games.

3 When hearing announcements like this, it is not easy to avoid being enthusiastic. It would be great if
everyone had a computer and access to the internet as a learning tool to enhance education. There is
hope that this technology would help improve the children's living conditions and create better life
opportunities for the future. However, in the meantime, so many children are falling ill and dying from
water-borne diseases, which is an urgent problem to be solved.

4 One of the difficulties with the plan is what families are likely to do with the laptops. The hundred-
dollar price tag is equivalent to an adult salary for three months in many cases. These families are much
more likely to try and sell the computer and get money to buy grain, fertilizer or food, than to let their
kids play with it in the evenings while the rest of the family sit listening to their stomachs rumbling.
Thus, international organizations should raise awareness about the value of keeping and benefiting from
these laptops.

5 In conclusion, the laptops and their software can persuade the young and the poor in the world that their
issues are being dealt with seriously. The whole world should be working hard to help lessen the rate of child
labor and poverty in order to live peacefully, hoping that these problems will have been solved by 2030.

Questions

A. Answer the following in complete sentences of your own. (Score: 04)

1. Based on paragraph 1, poor countries are facing many problems. State four of them. (01pt)

2. According to paragraph 2, why did the company have to design simple laptops? (01pt)

3. Based on paragraph 4, what does the author recommend? (01pt)

4. Based on the indicated paragraphs, what does each of the underlined pronouns refer to? (01pt)
a- it (Par. 2) b- it (Par. 4)

B. Use contextual clues to figure out the meaning of each word in the box below. Then fill in the
blanks with the correct word to complete the following sentences. (Score: 02)

1. distribute (Par.2) 2. installed (Par.2) 3. improve (Par.3) 4. persuade (Par.5) 5. lessen (Par.5) ‘

1- Mothers try to their gifts equally among their children.

2- Itis difficult to a stubborn person of your opinion.

3- Developed countries helped poor countries to their social problems.

4- The ultimate goal of our school is to both students' performance and

communication skills.
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C. The reading selection has 5 paragraphs (1-5). Each of the following extracts (A) and (B) is the
correct part that completes ONE paragraph in the selection. Read extracts A and B carefully, and
then choose from paragraphs (1-5) the one that correctly fits with each extract. (Score: 01)
Extract (A) Those children in Bangladesh will be pleased to know that after a long day breaking
bricks, they can relax with their laptops and play their favorite computer games.
Extract (B) Overcoming such health problems and deadly diseases enhances children's lives and
makes them optimistic.

D. The table below shows the percentage of schools using technology in Finland and Tunisia in 2005
and 2010. Read the table carefully, and then answer the following question.

(Score: 01)
The Percentages of Schools Using Technology in Finland and Tunisia
between 2005 and 2010
ntry
Year Finland Tunisia
2005 45% 10%
2010 65% 20%

How are schools in Finland and Tunisia similar in the use of technology? Explain with evidence from
the table.

E. Identify the ONE grammatical error in each of the following sentences, and then correct it. (Score: 02)
1. A vegetarian can be defined as someone who do not eat meat, fish, or other animal products.

2. If we don’t make changes in our lives soon, they would be very boring.

3. Some Japanese universities are developing medical robots to detecting certain kinds of cancer.

4. I don’t know why did the United Nations announce this in 2005.

F. Choose the correct answer, and write it in your booklet. (Score: 02)

1. It is more beneficial to look for a solution in collaboration with others to do it alone.
A. but B. after C. than D. then

2. It was so late; , he still insisted on calling her.

A. although B. despite C. nevertheless D. moreover

3. Dinner will be ready when you home.

A. have come B. will come C. come D. comes

4. Iwish I that second piece of cake. I had a stomachache all night long.

A. would not eat B. had not eaten C. did not eat D. had eaten

Part Two: Writing (Score: 08)
Choose ONE of these two prompts.
Prompt (A)
Children are being negatively influenced by violence in media such as video games, movies and the Internet.
Write about the negative effects of such violence on children. What solutions do you suggest to stop this
problem? Provide an outline and a suitable title, and then develop your ideas in a well-organized essay of
(150-200 words).
Your essay should have a good thesis statement that states the main idea(s), topic sentence(s) that you
elaborate well by giving sufficient details and examples, and a meaningful conclusion. Remember to revise
and proofread your essay.
Prompt (B)
Some successful people manage to overcome the problems they have faced in their lives by gaining the
support of their community (governments, schools, family, friends, etc...). -

Title
Narrate a story of a successful person you know or you have heard about. g un .
Copy the chart and then fill it with the proper information. Develop your  [Characters

narrative by providing sufficient details about the problem, people Problem
involved, and the solutions. Your essay should be between (150-200 Events
words). Solution

Your essay will be evaluated based on ideas and organization (Score: 2.5), language and style
(Score: 2.5), outline/chart and title (Score: 02) tidiness and legible handwriting (Score: 01)
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Part One | Reading Comprehension 12/20
A- |1 Poor countries are currently facing several problems such as: diseases, child labor, 01
lack of clean water, good hygiene, and lack of education.
The company faced a problem which is lack of electricity in some areas. 01
The author recommends that we should offer these children education, food, and 01
medical care.
4 | a- | It (Par. 2) refers to software 0.5
b- | It (Par. 4) refers to computer 0.5
B-|1 distribute 0.5
2 persuade 0.5
3 lessen 0.5
4 improve 0.5
C- A Para. 2 0.5
B Para. 3 0.5
D- The percentage of schools that use technology increased in both countries. For 01
example, in Finland it increased 20% and in Tunisia it increased 10%.
E- |1 A vegetarian can be defined as someone who does not eat meat, fish, or other 0.5
animal products.
If we don’t make changes in our lives soon, our lives will be very boring. 0.5
3 Some Japanese universities are developing medical robots to detect certain kinds of 0.5
cancer.
4 I don’t know why did the United Nations announced this in 2005. 0.5
F- |1 D- than 0.5
2 C- nevertheless 0.5
3 C- come 0.5
4 B- had not eaten 0.5
Part Two | Writing 08/20
Ideas and organization (Score: 2.5)
Language and style (Score: 2.5)
Outline/chart and title (Score: 02)
Tidiness and legible handwriting (Score: 01)
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Part One: Reading Comprehension (Score: 12/20)

The following selection discusses the efforts taken to reconstruct Banda Aceh city, Indonesia, after it was
hit by a devastating tsunami. Read it carefully, and then answer the questions that follow.

The Rebirth of a Devastated City

1 Few disasters can be compared to the devastation caused by the tsunami that struck the north coast of
Sumatra on December 26, 2004. After a 9.1 magnitude earthquake in the Indian Ocean, immense waves
— some thirty meters high — destroyed the Indonesian province of Aceh, leaving at least 163,000 people
dead or missing, including 60,000 in the capital, Banda Aceh.

2 It was the largest sudden loss of urban life in a generation — in fact, one of the largest in modern
history. More than 60 percent of Banda Aceh’s houses were swept away, and the entire coastal
communities were removed. Aid agencies estimated that 90,000 housing units would need to be
replaced. Along the coast, some 70 square kilometers were left barren, and clear evidence of land
disappeared throughout this ruined land of mud, salt, and erosion. In addition, legal documents were lost,
and the tsunami’s power obliterated “the natural boundaries like trees and footpaths,” according to the
Indonesian government.

3 Almost as shocking as the loss of life and livelihood was the challenge of rebuilding Banda Aceh from
the ground up. In the months and years that followed, a rush of international aid — a wave of more than
500 groups that some have called the “second tsunami” — transformed the physical, cultural, and
political landscape. That wave has since receded, leaving 140,000 new houses, 1,700 schools, nearly
1,000 government buildings, 36 airports and seaports, and 3,700 kilometers of roads, funded by $12
billion in foreign support.

4 Ten years later, the world has turned its attention to other problems, leaving Banda Aceh completely
forgotten. An official report states, “Since 2009, no assistance has been available from donors,” before
offering this reassuring conclusion: “Aceh has, to a large extent, returned to normal.” But what can
“normal” mean in these circumstances? How does “recovery” begin and when does it end? When does
post-disaster planning give way to the everyday challenge of managing a city? How well did
reconstruction planners anticipate the problems of reconstruction?

5 Banda Aceh is a city with a quarter million residents living along the delta of the Aceh River. It has
changed in ways that were unimaginable a decade ago. Eight “escape buildings” were built to
accommodate tourists and aid workers along the coastal landscape. Nowadays, these buildings serve as
community centers. One escape building in Banda Aceh is home to the Tsunami and Disaster Research
Center, and another to the Tsunami Museum that displays heartbreaking photographs and endless
memories of the monster that had once hit the country.

6 A team of United Nations (UN) officials visited Banda Aceh to study how successful housing
initiatives have been. The UN team found conflicting signs of a recovery that is remarkably widespread
and sustained. The international organizations funded much of the reconstruction efforts that should meet
the expectations and their financial investment.

7 However, residents on the ground have taken a broader view. They understand that true “recovery” is
impossible, but that does not deter them from moving ahead with the day-to-day tasks of rebuilding lives
and communities. If recovery has succeeded in Banda Aceh, it is largely because residents have defined
the process broadly, on their own terms. Rather than focusing solely on reconstructing the physical city,
or improving the economy, or attending to the emotional needs of survivors, they have viewed recovery
through multiple lenses.

8 Housing is not merely a means of shelter but also a means of engaging in an improved quality of
life. A healthy housing recovery requires a long-term commitment needed for living and surviving
households. First, truly affordable housing ensures access to economic wellbeing — either because it is
located with a workplace or because it is sited near employment opportunities that match the education
and skill levels of residents. It also affords a healthy environment by reducing the risks of environmental
hazards, from floodwaters to tsunamis. In addition, it affords personal and familial security so essential in
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a place like Banda Aceh that has suffered a painful disaster. Finally, it affords community empowerment
so that the new housing can bring together residents to negotiate community standards, norms and
expectations.
9 The post-disaster reconstruction efforts in Banda Aceh provide an opportunity to study how housing
can be, and should be, connected to these issues of livelihood, environment, and security. Taking a
complete view of housing and its role in society, the UN team sought to assess the effectiveness of the
reconstruction and to more fully understand how housing plays a key role in disaster recovery.
Questions

A. Answer each of the following questions in 1-4 complete sentences in your own words.

1. Based on Paragraphs 1 and 2, what caused the tsunami of Sumatra and what two damages

did it leave? (01)
2. Explain how the “tsunami” mentioned in Paragraph 3 differs from that mentioned in Paragraph 1. (01)
3. In reference to Paragraphs 6 and 7, contrast the international organizations’ view towards

reconstruction to that of Banda Aceh’s residents. (01)
4. Based on the last paragraph, what two lessons can be deduced from the case of Banda Aceh? (01)
B. Answer the following questions in complete sentences.
1. Identify and explain the figure of speech in Paragraph 5. (01)
2. State two types of evidence the writer uses to achieve credibility. Support your answer
with examples. (01)
3. Identify two types of audience, other than the general reader, that might be interested in
reading the selection above. Then mention the interest each one finds in it. (01)
C. Write a one-sentence summary of Paragraph 8. 01)
D. The table below shows the number of rebuilt constructions in Banda Aceh after the tsunami.
Read it carefully, and then answer the question that follows in 3-4 sentences. (01)
International Aid Figures for Reconstruction
Types of Construction Houses Government Schools Airports
Buildings
Number 140,000 1000 1,700 36

What can be deduced from the numbers of the table above? Provide evidence.

E. Based on contextual clues, infer the meaning of each word in the box below. Then fill in the blanks with
the correct words to complete the sentences that follow. The words are underlined in the selection. 02)

obliterated (Par. 2) ‘transformed (Par. 3)‘ receded (Par. 3) ‘ deter (Par. 6) ‘ sought (Par. 8) ‘

Most economic investments in Sumatra after the tsunami had ruined the
L. factories.
2. The rising prices after the economic crisis did not the citizens from buying
daily commodities.
3. The government has a new reconstruction plan to provide the victims with
adequate housing.
4. Most of the coastal communities were completely by the devastating disaster
that hit Sumatra.
F. What does each of the following words, bold-typed in the selection, refer to? (01)
1. one (Paragraph 2) 2. that (Paragraph 7) 3. they (Paragraph 7) 4. it (Paragraph 8)
Part Two: Writing (Choose ONE of the following prompts.) (Score: 8/20)

Prompt A: Usually the goal of national reconstruction plans is to develop cities and centralized areas
instead of focusing on rural areas. In a persuasive essay of 250-300 words, show how significant it is
to rebuild rural areas (villages) to preserve the environmental and cultural spirit of a country.
Prompt B: Disasters, whether natural or manmade, are responsible for many socio-economic and
environmental problems, particularly in developing and underdeveloped regions. This is due to both the
lack of preventive action plans and insufficient financial resources. In an expository essay of 250-300
words, develop two negative effects (social, economic, environmental, etc.) of disasters. Then show
how awareness can be raised to lessen such effects.

Content and organization of ideas (3.5), language and style (3.5), tidiness and legible handwriting (01)
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The Rebirth of a Devastated City

Answer Key

Score

I-A-1

The 9.1 magnitude earthquake in the Indian Ocean caused the tsunami that hit the north
coast of Sumatra. It left severe damages: destroying large areas of Banda Aceh’s city and
buildings, killing thousands of people, removing the coastal communities of the city,
destroying land/legal documents of the city, and erasing the city’s natural boundaries.

(0.5 for the cause; two different effects are enough, 0.25 for each)

01

I-A-2

In Paragraph 3, the writer uses tsunami to refer to the overflow of more than 500 groups
from all over the world to help assist the victims in the devastated city of Banda Aceh. (Or:
he uses it to show to what extent the aids were huge.). However, the tsunami used in
Paragraph 1 is the natural disaster (huge waves) that hit the north coast of Sumatra.

(0.5 for each)

01

I-A-3

According to the international organizations, they view the reconstruction of Banda Aceh as
a financial investment (their aim is to profit from the aids they offer). Conversely, the
residents of the city tackled the problem in a more humanistic and emotional approach.
Their primary concern was to bring their city back to life again not just from the physical
but also from various other perspectives as well.

(0.5 for each)

01

I-A-4

First, disaster recovery can have positive sides (or there is value in disaster recovery)
because what happened in Banda Aceh is a good example to learn from regarding the role
of housing. Second, fruitful reconstructing outcomes can be achieved through specific
assessment and awareness of the issues related to the process of reconstruction.

(0.5 for each)

01

I-B-1

The writer uses a metaphor in Paragraph 5: “... the monster that had once hit the country”.
The writer compares the tsunami to a merciless monster that had swept away everything in
its path.

(0.5 for identification and 0.5 for explanation)

01

I-B-2

First, the writer uses specific dates such as in Paragraphs 1 and 4: “December 26, 2004 and
“Since 2009”. Second, he uses numbers and statistics such as in Paragraphs 1 and 2:
“163,000 people dead”, “70 square kilometers”, “More than 60 percent of Banda Aceh’s
buildings”. Third, he uses authoritative statements such as in Paragraphs 2 and 4: The
statement of the Indonesian government at the end of Paragraph 2 on the vast damage
caused by the tsunami and the official report’s statement. Also he uses names of places and
centers such as in Paragraphs 1 and 5: “Sumatra and Banda Aceh” and “Tsunami and
Disaster Research Center”.

(two types of evidence are required: 0.5 for each evidence with its examples)

01

I-B-3

First, people whose countries are subjected to disasters might be interested in reading the
selection because it highlights the important role that they can play in order to recover from
disasters and how to play an effective role in the process of reconstruction. Second,
international donors (humanitarian aid organizations or NGOs) because the selection shows
the efforts that should be taken by them in order to effectively reconstruct devastated areas.

0.5 for each (any other reasonable type with justification is acceptable)

01
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In Paragraph 8 of “The Rebirth of a Devastated City”, the writer states/explains the
I-C | characteristics/effects of good housing plan which requires suitable economic, | 01

environmental, and societal standards.

The table shows the international aid figures for different types of construction in Banda

Aceh. The highest constructed type is housing (140,000) compared to that of airports which

is the lowest (36). In addition, the sector of schools shows an alarming figure which is 1,700
I-D |in relation to that of government buildings which is 1,000. Thus, huge numbers of | 01

constructions of Banda Aceh were subjected to destruction due to the disaster.

(0.5 for the introductory sentence, 01 for the analysis of the statistics, and 0.5 for the

result)
I-E-1 | receded 0.5
I-E-2 | deter 0.5
I-E-3 | sought 0.5
I-E-4 | obliterated 0.5
I-F-1 | “one” refers to sudden loss / disaster / earthquake 0.25
I-F-2 | “that” refers to the fact that “true recovery is impossible” 0.25
I-F-3 | “they” refers to residents 0.25
I-F-4 | “it” refers to affordable housing; housing 0.25
II-A | Content and organization of ideas 35
II-B | Language and style 35
II-C | Tidiness and legible handwriting 01

| 239




lasloTs &5 5501 dsl)) :diadsl 830

Lalad) Yo VA alad) 550 dalad) 4 g8 Balg ladial Alad) antait) g 4 31 3 ) 3
YOVA Ol vy el bl Y g b Ay Al dalad) 5 puaal)
dan ) cUilata) 8 ila
syl 45000y dall) Bala A Aliliaa
sad ) cile b EDG 3l
Part One: Reading Comprehension (Score: 12/20)

In the following selection, the writer reports the issue of bullying among teenagers. Read it carefully, and
then answer the questions that follow.
Words That Wound

1 Brian Head saw only one way out. On the final day of his life, the 15-year-old boy stood up and
pointed a semi-automatic handgun at himself. Before he pulled the trigger, he said his last words, “I
cannot take this anymore.”

2 Brian’s father, William Head, has no doubt why his only child chose to take his life in front of his
classmates, five years ago. Brian wanted everyone to know the source of his pain, the suffering he could
no longer endure. As a teenager, overweight with thick glasses, he had been regularly abused by school
bullies since elementary school. Death was the only relief he could imagine. “Children cannot take
appropriate decisions or deal with troubles. They are trapped,” says Head.

3 After his son’s death, William Head became an activist against bullying and founded an
organization called Kids Hope to prevent others from suffering as Brian had. However, bullying claimed
another victim in a small town: 13-year-old Jim Belluardo. On the bus ride home from school, Jim’s
neighbor, 15-year-old Jonathan Miller, taunted him and threw rolls of paper at him. He followed Jim off
the school bus, hit the younger boy in the back of the head, and kicked him in the stomach. Jim spent the
last two days of his young life in a coma before dying of his injuries. Miller, it turns out, had been
suspended nearly 20 times for offenses such as pushing and teasing other students and cursing at a
teacher. He is now serving a life sentence for first-degree murder while his case is on appeal.

4 Bullying does not have to result in death to be harmful. Bullying and harassment are major
distractors from learning, according to the National School Safety Center. Victims’ grades suffer, and fear
can lead to chronic absenteeism or dropping out. Bullies also affect children who are not victimized:
Bystanders feel guilty and helpless for not standing up to the bully. They feel unsafe, unable to take
action, and drawn into bullying behavior by peer pressure.

5 Much bullying goes on in so-called transition areas where there is little or no adult supervision:
hallways, locker rooms, restrooms, cafeterias, playgrounds, buses, and bus stops. When abuse happens
away from adult eyes, it is hard to prove that the abuse occurred. Often, though, bullies harass their
victims in the open, in full view of teachers and other adults. Some teachers ignore the behavior,
indirectly letting it happen. However, even when adults try to deal with the problem, they sometimes
make things worse for the victim by not handling the situation properly. Confronting bullies in front of
their peers only enhances the bullies’ prestige and power. Moreover, bullies often increase the abuse after
being disciplined. “People know it happens, but there is no structured way to deal with it,” says Nancy
Mullin-Rindler, an associate director of the Project on Teasing and Bullying. “There is a lot of confusion
about what to do and what the best approach is,” she adds.

6 Societal expectations play a part in adult reaction to childhood bullying. Many teachers and
administrators believe that bullying is a normal part of childhood and that children are better off working
out such problems on their own. “However, this belief sends a dangerous message to children,” says
Head. Telling victims that they must protect themselves from bullies shows children that adults cannot
and will not protect them. “In addition,” he points out, “it is an attitude adults would never tolerate for
themselves.”

7 Ignoring bullying is only part of the problem. Some teachers go further by blaming the victims
for their abuse and letting their own dislike for the victimized child show. “There is a lot of secret
admiration for the bullies,” says Eileen Faucette whose daughter was teased so badly in the classroom to
an extent she was afraid to go to the blackboard or raise her hand to answer a question. The abuse
happened in front of her teacher, who did nothing to stop it.

8 Changes are coming; five months after Brian’s death, the legislators passed an anti-bullying law.
The law defines bullying as “any willful attempt or threat to inflict injury on another person when
accompanied by an apparent present ability to do so” or “any intentional display of force that gives the
victim a reason to fear or expect immediate bodily harm.” Schools are required to send students to an

240 |



Oliluals OISYI g 3 - dalell B 8slgsdl Sblsl

alternative school if they commit a third act of bullying in a school year. The law also requires school
systems to adopt anti-bullying policies and to post the policies in intermediate and secondary schools.

9 Head was consulted by the legislators who sponsored the proposed law, but he believes that the
measures do not go far enough. He urges schools to treat bullying as a violation of the criminal law
against attack, stealing, and threatening, and to call the police when the law is broken.

10 He knows it is too late for Brian, but he continues to work, educate and emphasize on the
devastating effects of bullying so that his son’s death will not have been in vain. “We should come clean
and say what we have done in the past is wrong. Now we will guarantee that we will protect the rights of
students,” says Head.

Questions
A. Answer each of the first five questions in 1-4 sentences in your own words.
1. Based on Paragraph 2, what two reasons were behind Brian’s death? 0.5)
2. Based on Paragraphs 3 and 4, identify three harmful effects of bullying on those who are (0.75)
bullied.
3. Based on Paragraph 5, explain how adults contribute to the problem of bullying. 01)
4. In reference to Paragraph 6, how does the writer view societal expectations? Justify. 01)
5. Based on Paragraphs 8 and 9, comment on the law legislated against bullying. 01)
6. What does each of the following words, bold-typed in the selection, refer to? (0.75)
a. this (Paragraph 1) b. it (Paragraph 7) c. so (Paragraph 8)
B. Answer the following questions in complete sentences.
1. What is the thematic relation between Paragraphs 1 and 10? Explain 01)
2. What type of irony is there in Paragraph 7? Justify your answer. 01)
3. Identify two types of audience, other than the general reader, that might be interested in
reading the selection above. Then mention the interest each one finds in it. 01)

C. The table below reveals the bullying notifications of 490 students in Cycle 3, as reported in a
study by the University of British Columbia. Read it, and then answer the question that
follows in 3-4 sentences. 02)

Bullying Notification

Notification | Telling Parents | Telling Friends | Telling Teachers | Telling Police | Telling Bully to Stop

Percentage 32% 37% 21% 5% 29%

What conclusion can be deduced from the statistics mentioned in the table above?
Provide evidence.
D. Each of the following extracts (A and B) is the correct part that completes ONE paragraph in
the selection. Read them carefully, and then choose from paragraphs (3-7) the one that
correctly fits with each extract. 01)
Extract A: Any time there is a climate of fear, the learning process will be compromised.
Extract B: “If you go to work and get slapped on the back of the head, you will not expect
your supervisor to say, ‘It is your problem—you need to learn how to deal with it yourself,””
says Head.
E. Refer to Paragraphs 3, 5, and 8, to find words that can best replace words underlined in the
sentences below. 01)
1. When the girl insulted her classmate on social media, she did not realize that other
people would criticize her.
2. Implementing anti-bullying programs increases awareness among teenage students.
3. Some students use violent behavior to impose pain on others.
4. 1 cannot figure out how to display a comment to the abuser’s blog.

Part Two: Writing (Choose ONE of the two prompts below.) (Score: 08/20)
Prompt A: “Aggression is often the result of experiencing or witnessing violence.” In a well-organized
expository essay of 400-500 words, develop the above statement focusing on the role media, home,
and/or society play(s) in making children become aggressive and violent. Then propose practical
suggestions that curb such violence.

Prompt B: Today’s youth is tomorrow’s nation, so children must learn that they have an on-going process
with the larger community. In doing so, they are given a sense of the importance of their unique contribution,
and the value of their involvement in the world. In a well-organized persuasive essay of 400-500 words,
discuss how vital it is to give children the values and ways necessary to lift them and their communities
out of an insecure, neglected life.

Score: 3.5 for ideas and organization, 3.5 for language and style, and 01 for tidiness and legible handwriting
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Words That Wound

Answer Key

Score

I-A-1

First, Brian suffered a lot at school because he was always teased by his
friends for being an obese teenager with thick eyeglasses (Or: His friends
used to make fun of his physical appearance). Second, being a
teenager/child, he could not deal with the problem logically. Third, he was
unable to endure pain.

(Two are enough; 0.25 for each)

0.5

I-A-2

First, bullying leads to death. Second, it has harmful physical effects (body
injuries). Third, it results in distracting the bullied away from their studies
and schools (lower grades, absenteeism, or dropping out of schools).

(0.25 for each)

0.75

I-A-3

Some teachers or other adults do not take into consideration the aggressive
behaviors that they witness. In addition, they do not know how to deal with
bullying; they make the situation worse because they are ignorant about the
best method to deal with bullies, the fact that empowers the aggressive
students. (The lack/absence of adults’ controlled supervision is also a factor.)
(The explanation should include at least two reasons; 0.5 for each)

01

I-A-4

The writer views societal expectations as something misleading (carries
misconceptions/wrong beliefs, deceiving for the kids, or the source of the
increased bullying). Teachers consider bullying something normal during
childhood and that victimized children should deal with it on their own.
Unfortunately, that puts children in a dangerous situation and makes them
feel helpless.

(0.5 for the view and 0.5 for the justification)

01

I-A-5

The legislated law only defines bullying as an action that causes bodily harm
or injury. Moreover, it requires schools to adopt anti-bullying policies and
display them inside the school area. However, this law doesn’t satisfy the
parents whose children died as a result of bullying, for they want it to be
considered a crime and that the bullies should be identified as law breakers.
Thus, the current law is not fair/effective enough according to many people.
(Or: Thus, more work and support should be provided in order to legislate a
fair (more effective/satisfactory) law.

The positive and negative sides of the proposed law should be provided
(0.5) and the final comment based on it should be also provided (0.5)

01

I-A-6-a

“this” refers to the situation Brian was suffering from; the abuse

0.25

I-A-6-b

“it” refers to the abuse

0.25

I-A-6-¢

“s0” refers to the “attempt or threat to inflict injury on another person”

0.25

I-B-1

Paragraph 1 introduces the problem of bullying in schools, and Paragraph 10
provides a solution: educating and emphasizing the effects of bullying in an

01
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attempt to protect the abused children. Therefore, the relation between the
two paragraphs is that of problem-solution.

Or Cause-effect relation. Paragraph 1 presents the death of Brian as a result
of bullying. Paragraph 10 shows that his death urged Brian’s father to be an
activist against bullying among students.

(0.5 for identification, 0.5 for explanation)

Teachers are expected to play a supportive role and to protect the bullied
children in schools. Moreover, they have to blame/punish/discipline the
bullies for the aggressive actions. However, teachers indirectly admire the

I-B-2 | bullies and show dislike towards the victimized children. This reveals a
situational irony (parents’ expectations totally contradict with the teachers’ 01
attitude towards bullying.)

(0.5 for identification, 0.5 for justification)
First, teachers might be interested in reading the selection because it
highlights the important role that teachers should play in dealing with

I-B-3 | bullying which exists among teenagers. Second, law legislators because the 01
selection shows the efforts taken in order to recognize bullying as a crime,
and not only as an action which causes harm.

0.5 for each (any other reasonable type with justification is acceptable)
The table provides statistics (statistical figures) on the ways bullied students
use to inform others about bullying. In the first place comes the students who
told their friends about the bullying they were subjected to (37%). Less

I-C numbers (32%) notified their parents about the abuse. As for telling the 02
police and teachers, the percentages are 29% and 21%, respectively.
However, only 8% told the police about such aggressive behaviors. Thus,
students prefer to tell their friends about bullying, but informing the police is
the last choice they think about.
(0.5 for the introductory sentence, 01 for the analysis of the statistics,
and 0.5 for the result)
Extract A best completes Paragraph 4.

I-D Extract B best completes Paragraph 6. 01
(0.5 for each)

I-E-1 | taunted 0.25

I-E-2 | enhance 0.25

I-E-3 | inflict 0.25

I-E-4 | post 0.25

I1-A Content and organization 3.5

I1-B Language and style 3.5

I1-C Tidiness and handwriting 01
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Part One: Reading Comprehension (Score: 12/20)

The selection below explains the significance of biological intelligence in human life. Read it carefully, and
then answer the questions that follow.
Biological Intelligence: Hidden Capacities

1 Biological intelligence is a new concept that is nearly four billion years old. How does your body
develop and use knowledge? Biological intelligence teaches your body to teach itself. Just like you educate
your brain, you can teach your body. Lots of people have heard about artificial intelligence. But why
haven’t you heard about biological intelligence? That is because most of biological intelligence is quiet
and unconscious: you see your hair grow, but you do not see your body learn.

2 Immunity, for instance, is your ability to fight infection and cancer. Your ability to fight off infections
like flu is not something you know about — unless you get sick. Taking cases like cancer, we probably form
dozens of tiny tumors each and every day. However, we destroy almost all of them so effectively without
even knowing that. Biological intelligence engages all of immunity’s remarkable tasks. One of its basic
tasks is to teach the body to correctly recognize cancers that have been missed and then make the immune
system go after them.

3 However, biological intelligence is much more than destroying viruses and tumors. Biological
intelligence is the basic ability that keeps you going. It teaches your body to do what it needs to do. It is so
big and so important, which makes it useful to be compared with artificial intelligence — the ability to
transform our lives and economy.

4 Biological intelligence engages all the conscious and unconscious knowledge of a human being. That
immense field stretches from genetics to culture, society and psychology. Much of it is hardly understood.
For instance, your mother’s tender arm that holds you in a warm embrace and the little gestures that tell
“you are loved” will prove hard work for robots.

5 That is why it is the intelligence connected to everything inside you — every system you use. You have
an immune system, a cardiovascular system, a hormonal system, a muscular system, and dozens of
interconnected systems. Unlike most robots, the body does not do one thing at a time; it coordinates all the
different information systems at the same moment. The size of your body’s information systems dwarfs the
complexity of the entire Internet. The actions that biological intelligence engages every moment to keep us
healthy are far more effective than the medical attempts to protect us from illnesses.

6 In addition, biological intelligence has different goals from those of artificial intelligence. In our case, it
is the survival of human species. For example, diabetes genes may keep us stay alive during famines;
otherwise, we may really lose our life. Biological intelligence wants all living species to survive — not just
us.

7 Unlike the artificial intelligence you experience in malfunctioned software, biological intelligence has
survived almost everything thrown at it. It survived the asteroids that wiped out the dinosaurs. It survived
volcanoes that scorched the earth for millions of years. It survived plagues and epidemics; many species
have disappeared, but life has continued.

8 In fact, biological intelligence is built to cope with unexpected occurrences. We are built to survive
comets, earthquakes, calamities and catastrophes that we have never seen — and that may never happen. Our
genes and physiology are built to survive stresses that do not yet exist and may never exist. When AIDS
first hit, it was terrifying, yet many of us had inbuilt systems to keep it off, even before one effective drug
was produced.

9 Unlike artificial intelligence, biological intelligence does not operate just within us, but over a huge
ecosystem. There are at least 40 trillion bacteria in your digestive tract. They not only digest food but also
appear to change your mood, your ability to fight off infections, and the way cancer drugs work. At least,
there are 10 times more non-human cells in your body than human ones.
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10 Thus, biological intelligence is big, and it does amazing things. Because we have not thought of the body
as intelligent and constantly learning, we do not even know what many of those capacities are. That is the
power of a system built on chance, a system developed through billions of years of failures and triumphs. The
robots are advancing, at work and play. Artificial intelligence is getting smarter every day. So should you.

Questions
A. Answer each of the following questions in 2- 4 sentences in your own words.
1. Based on Paragraph 2, identify two roles played by biological intelligence. 01)

2. Based on Paragraph 5, in what two ways does biological intelligence perform better than technology?  (01)
3. Based on Paragraphs 7 and 8, in what sense is biological intelligence effective during (01)
hardships? Explain.

4. What can be deduced from the comparison the writer draws in Paragraph 10? 01)
B. Answer the following questions in complete sentences.
1. Identify the paradox in Paragraph 1 and explain it. 01)
2. Identify the cohesive device used to link each pair of paragraphs below and specify its type. (01)
a. Paragraphs 5 and 6 b. Paragraphs 7 and 8
3. What two types of evidence does the writer use to achieve credibility? Provide examples. 01)
C. The table below compares between the attributes of natural and artificial intelligences. Read the
table carefully, and then answer the question that follows in 3-4 sentences. 02)
A Comparison between Natural and Artificial Intelligences
. Natural Intelligence | Artificial Intelligence
Attributes (Human) (Machine)
Using senses
(eyes, ears, touch, smell, taste) High Low
Being innovative and imaginative High Low
Making complex calculations Low High
Transferring information Low High
Using a variety of information sources High High

What conclusion can you draw from the comparison above?

D. Each of the following extracts (A and B) is the correct ending of ONE paragraph in the selection. (01)
Read them carefully, and then choose from Paragraphs 1 to 10 the one that fits with each extract.
Extract A: Consequently, it triggers the immune system to track the sick cells.
Extract B: Whatever the cells are, biological intelligence rules them all.

E. Scan Paragraphs 7, 8, and 10 to find words that best replace the words/ phrases underlined in (01)
the following sentences.
1. The defective machine urged the scientists to use another device.
2. The surrounding area was burnt due to an explosion in a huge laboratory.
3. If the medicine is not effective, the patient will not stay alive till the end of the year.
4. His success in the field of artificial intelligence led to significant advances in robotics.

F. What does each of the following pronouns, bold-typed in the selection, refer to? (01)
1. That (Paragraph 1) 2. that (Paragraph 2) 3. it (Paragraph 8) 4. They (Paragraph 9)
Part Two: Writing (Choose ONE of the following prompts.) (Score: 08/20)

Prompt A: Artificial intelligence (robotics, automation, virtual reality, etc.) is getting smarter every day.
In a well-organized expository essay of 250-300 words, develop the statement above, shedding light
on two positive and/or negative effects of artificial intelligence in any field(s) of your choice
(educational, social, industrial, etc.).

Prompt B: Many scientists believe that artificial intelligence will continue to develop to an extent we,
human beings, turn to be slaves to it. In a well-organized argumentative essay of 250-300 words, argue
for or against this point of view. Make sure that your essay supports your position and refutes the
opposite point of view.

Content and organization of ideas (3.5), language and style (3.5), tidiness and legible handwriting (01)
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Biological Intelligence: Hidden Capacities

Answer

Score

I-A-1

First, biological intelligence deals with all important functions of the
immune system. Second, it teaches the human body how to identify
diseases accurately. Third, it gets the immune system attack infections.
(Two roles are enough; 0.5 for each role)

01

I-A-2

First, while biological intelligence connects the various systems in our
body, technological devices fail to engage more than one task a time (or:
biological intelligence collects data from different sources and organizes
them at the same moment). Moreover, the amount of information
collected by biological intelligence is much more than that of the
Internet. In addition, biological intelligence is more active in keeping the
human body healthy.

(two reasons are enough; 0.5 for each)

01

I-A-3

Biological intelligence is responsible for helping species survive
disasters and hardships. Under the control and guidance of biological
intelligence, human genes and physiology help and adapt the body to
deal with sudden catastrophic/fatal changes such as asteroids, volcanoes,
epidemics, earthquakes, and AIDS.

01

I-A-4

The writer mentions that biological intelligence is amazing and great, yet
artificial intelligence has become smarter. According to him/her, this
comparison shows that people are not fully aware of the great capacities
of biological intelligence, so they should benefit from such capacities to
become smarter humans.

01

I-B-1

The paradox is in the first sentence of Paragraph 1: Biological
intelligence is considered a “new” concept although it is very old;
logically, something which is four billion years should be old, not new.
(0.5 for identification and 0.5 for explanation)

01

I-B-2-a

Paragraphs 5 and 6 are linked with the transition signal “In addition”
which is a direct cohesive device.

Or: They are linked with the repetition of the key terms such as
“biological intelligence”; it is an indirect cohesive device.

(0.25 for the device and 0.25 for its type)

0.5

I-B-2-b

Paragraphs 7 and 8 are linked with the repetition of the key terms such
as “survive” and “biological intelligence”; it is an indirect cohesive

0.5
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device.

(0.25 for the device and 0.25 for its type)

First, the writer uses specific names of diseases and biological systems

such as in Paragraphs 2, 5 and 8: “cancer”, “cardiovascular system”,
I-B-3 | “hormonal system”, and “AIDS”. Second, he uses numbers such as in 01

Paragraphs 1 and 9: “four billion”, “40 trillion” and “10 times more”.

Third, he refers to facts or real events such as in Paragraphs 7 and 9: the

extinction of dinosaurs and the number of bacteria found in the digestive

tract.

(two types are enough; 0.5 for each one with its examples)

The table reveals the comparison (similarities and differences) between

natural and artificial intelligences (0.5). Both kinds of intelligence have

high attributes of using a variety of information sources (0.5). However,

natural intelligence exceeds artificial intelligence in two qualities: the

ability of using senses and the ability of being innovative and

imaginative (0.5). As for artificial intelligence, it excels in making

complex calculations and transferring information (0.5).
I-C Or: 02

The table reveals the comparison (similarities and differences) between

natural and artificial intelligence (0.5). Natural intelligence shows high

performance in using senses, being innovative and imaginative, and

using a variety of information sources (0.5). As for artificial intelligence,

it reveals high performance in making complex calculations, transferring

information, and using a variety of information sources (0.5). Thus, both

have a similarity in using information resources, yet they differ in the

other four attributes presented (0.5).

Extract A is the correct end of Paragraph 2.
I-D | Extract B is the correct end of Paragraph 9. 01

(0.5 for each)
I-E-1 | malfunctioned 0.25
I-E-2 | scorched 0.25
I-E-3 | survive 0.25
I-E-4 | triumph(s) 0.25
I-F-1 | “That” refers to the idea of not hearing about biological intelligence 0.25
I-F-2 | “that” refers to the act of destroying tumors 0.25
I-F-3 | “it” refers to AIDS 0.25
I-F-4 | “They” refers to 40 trillion bacteria; bacteria 0.25
II-A | Content and organization of ideas 3.5
II-B | Language and style 3.5
II-C | Tidiness and legible handwriting 01
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